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IDENTIFICATION
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.REM *
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.REM
GENERAL DESCRIPTION
THIS DIAGNOSTIC CAN CHAIN 16 DUVI1'S, THIS MEANS THAT
16 DEVICES CAN BE SEQUENTIALLY EXERCISED. THE DIAGNOSTIC
MAKES ONE PA>S BEFORE PROCEEDING TO THE NEXT DEVICE,
AND CONTINUES EXERCISING ALL DEVICES IN THIS FASHION UNTIL

HALTED.

THE DUV11 OFFLINE COMBINED TIMING AND INTERRUPT TESTS

VERIFY THAT THE TRANSMITTER AND RECEIVER CAN CORRECTLY
TALK TO EACH OTHER.INTERRUPT LOGIC AND PRIORITY LEVEL

/VECTOR ADDRESSES ARE ALSO VERIFIED

REQUIREMENTS

PDP=11/21 COMPUTER (LSI)

DUV11 SYNCRONOUS/ISOCRONOUS OPTION

ONE CONSOLE TELETYPE OR EQUIVALENT

STORAGE
THE PROGRAM LOADS INTO 4K OF MEMORY WITH BOOTSTRAP

LOADING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
IS TO BE USED.

STARTING ADDRESS
FOR ABSOLUTE LOADER

4K 017500

8K 037500

12K 057500

16K 077500

20K 117500

24K 137500

28K 157500

STARTING PROCEDURE
CONTROL SWITCH SETTINGS
NOTE: ALL SWITCHES RESIDE INTERNAL TO THE CPU AT ADDRESS

176. THESE MAY BE SET VIA THE CONSOLE TTY BY DIRECTLY
MODIFYING LOC. 176.

NOTE: RUNNING UNDER APT=11, THERE IS A USER SWITCH REGISTER
CALLED "‘SUSWR''. IN ORDER TO BE FLEXIBLE ON THE AVAILIBILITY OF THE
H315 CONNECTOR, ONE BIT PASSES STATUS TO APT=11,
BIT O _IN SUSWR REFLECTS THIS STATUS, A O = CONNECTOR

.REM

.REM

SEQ 0002
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PRESENT = CONNECTOR NOT AVAILIBLE
THE USER annc S THE CONTENTS OF THIS
WHEN BUILDING THE E TABLE, BY ANSWERIN

EOCATION
PROMPT ‘‘SWITCH 2".

THE

&.1.1  AFTER PROGRAM LOAD (INITIAL PROGRAM START)
ALL CONSOLE SWITCHES DOWN

4&.1.2 TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
AFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SW09=1
4.1.3 10 START PROGRAM AT SELECTE
cuoroq (ONY IN SINGLE DEV

&.1.4 TO LOCK ON SELECTE
(ONLY IN S

EST A

D TEST AFTER A PROGRAM RESTART
ICE TESTS)

D TEST AFTER A PROGRAM RESTART
INGLE DEVICE TESTS)

N ES

DEV
SW1é=1
NOTE1: IN GENERAL SW01 WILL BE USED WHEN SW14=1 |
NOTE2: WITHOUT SWO1=1  "LOCK ON TEST'' WILL DEFAUL
4.2 STARTING ADDRESS
THE STARTING ADDRESS FOR ALL TESTS IS 000200
THE RETARTING ADDRESS FOR ALL TESTS IS 000200
THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
THE STARTING ADDRESS TO LOCK ON TEST IS 000200
4.3 PROGRAM AND/OR OPERATOR ACTION
4.3.1 INITIAL PROGRAM START
4.3.1.1 LOAD PROGRAM INTO MEMORY WITH ABSOLUTE LOADER
4£.3.1.2 SET SWITCH REGISTER (LOC. 176) TO ZERO.
4.3.1.3 TYPE 2006.

4.3.1.4 PROGRAM WILL START.

S USED
T 10 TEST 1

+REM .
4&.3.1.5 THE PROGRAM WILL TYPE ‘‘DUV11 CNDUU=-A TAPE E'' (ONCE ONLY)

.REM .
4.3.1.,6 THE PROGRAM WILL TYPE ''R'* TO INDICATE THAT [T IS ABOUT
TO START TESTING ,AND THEN TESTING WILL BEGIN
4.3.2 PROGRAM RESTART WITH ALL SWITCHES DOWN

4.3.2.1 THE PROGRAM WILL TYPE "'R'* AND WILL COMMENCE TESTING



CNDUU=A MACY11 30(1046) 14=DEC-B2 10:02 PAGE 57-3
CNDUUT.M1T 10-DEC-82 13:51 | SEQ 0004

4.3.3 PROGRAM RESTART WITH SW00=1
4.3.3.1 SET SWITCH REGISTER (LOC. 176) TO A 000001.
&£.3.3.2 TYPE 2006.
4.3.3.3 PROGRAM WILL START,

4.3.3.64 THE PROGRAM WILL TYPE '* 1ST DEVICE: RECEIVER CONTROL REGISTER
ADDRESS'' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.5 TYPE IN THE ADDRESS OF THE FIRST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV11 TO BE TESTED

FOLLOWED BY A <CARRIAGE RETURN>
IF AN INCORRECT ADDRESS IS TYPED THE PROGRAM WILL TYPE 2"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.4

4.3.3.6 THE PROGRAM WILL TYPE ''VECTOR ADDRESS="' AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4.3.3.7 TYPE_IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>
IF AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE '
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.6

4.3.3.8 THE PROGRAM WILL TYPE ‘‘ARE YOU RUNNING MULTIPLE DEVICES ?'
(Y OR N)="" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.9 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
<CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS GIVEN, THE PROGRAM WILL TYPE ‘2"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.8

IF A *NO"' ANSWER IS GIVEN: JUMP TO SECTION 4.3.3.12
IF A "'YES'' ANSWER IS GIVEN:THE NEXT QUESTION IS ASKED
4£.3.3.10 THE PROGRAM WILL TYPE ''LAST DEVICE:RECEIVER CONTROL
REGISTER ADDRESS='' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
6.3.3.1 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL REGISTER
ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE ''?*
AND WILL THEN REPEAT THE MESSAGE OFf 4.3.3.10
NOTE:ALL ADDRESSES SHALL BE CONTIGUOUS

6.3.3.111 IF AN *'OUT OF RANGE'' ADDRESS IS TYPED
IE. MORE THAN 16 (10) DEVICES AWAY (UPWARDS).....THE



CNDUU=A MACY11 30(1046) 14-DEC-B2 10:02 PAGE 57-4
CNDUUT . M1 10-DEC-82 13:51 SEQ 0005

PROGRAM WILL TYPE ''OUT OF RANGE:RETYPE LAST DEVICE RXCSR ADDRESS-''
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
E IN

4£,.3.3.11.2 TYP THE ADDRESS OF THE LAST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED
BY A <CARRJAGE RETURN>

IF_ AN INCORRECT ANSWER IS TYPED ,THE PROGRAM wILL TYPE *'?*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.11.1

IF A DEVICE ADDRESS LOWER THAN 1ST
«s2+5CHOOLS OUT.........THERE IS NO
THE PROGRAM WILL DEFAULT TO TWO DEV E (UPWARDS FROM
1ST DEVICE ADDRESS).THE SAME APPLIE ICAL ADDRESSES
TYPED FOR FIRST AND LAST DEVICE.

OBSERVE LOCATION @ ACTREG: SEE SECTION 7.2

6£.3.3.12 THE PROGRAM WILL TYPE ''# OF SYNC CHARS
SELECTED (1 OR 2)-'' AND WAIT FOR AN INPUT FROM THE TELETYPE
§S}$gaRg REFER TO MANUAL FOR PROPER SWITCH SETTINGS OF

6£.3.3.13

DRESS IS TYPED.veeeesnene
SN FOR THIS.
T

Ne= O

5§54
TYPE IN THE APPROPRIATE ANSWER '"1'' OR "'2'' FOLLOWED

BY A <CARRIAGE RETURN>.(NOTE:ALL MULTIPLE DEVICES MUST
BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PR
AND WILL REPEAT THE MESSAGE OF 4.3.3.12
S S

P
1
4.3.3.14 THE PROGRAM WILL TYPE ' IS SEC XMIT SWITCH E55-2 ON? (Y OR N)="'
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.15 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED
BY A <CARRIAGE RETURN>,(NOTE THAT ALL MULTIPLE DEVICES
MUST BE THE SAME)

OGRAM WILL TYPE '

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '*2*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.14
EC R
T

4.3.3.16 THE PROGRAM WILL TYPE *'IS SEC
(Y OR N)='" AND WAIT FOR AN INPUT FROM

4.3.3.17 TYPE IN THE APPROPRIATE ANSWER
BY A <CARRIAGE RETURN>. (NOTE: ALL MUL

55=3 ON?
KEYBOARD

OLLOWED

ES MUST BE THE SAME)

EC SWIT
HE TELE
YES OR
TIPLE

E
PE
F
PL C

CH
TY
NO
DEVI

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE *'?*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.16

6«.35.3.18 THE PROGRAM WILL TYPE ''IS OPT CLR ENABLE SWITCH
ES55=1 ON? (Y OR N)='" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
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6.3.3.19 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF_AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE *"?"'
AND WILL REPEAT THE MESSAGE OF 4.3.3.18

4.3.3.20 THE PROGRAM WILL TYPE ''ARE YOU RUNNING IN MAINT,
MCDE EXTERNAL ? AND ......DO YOU HAVE THE EXTERNAL MIDZIM
BYPASS JUMPER CONNECTOR ON ? (Y OR N)='' AND WAIT FOR AN

INPUT FROM THE TELETYPE KEYBOARD
6.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLCWED BY
A <CARRIAGE RETURN>, (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '"?"
AND WILL REPEAT THE MESSAGE OF 4.3.3.20

6.3.3,22 THE PROGRAM WILL TYPE ''R"' TO INDICATE THAT IT
HAS STARTED AND WILL COMMENCE TESTING AT TEST 1

4.3.4 PROGRAM RESTART WITH SW01=1

NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED

IT WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED

IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LOAD 000200,

AND ZELECT SW00=1 AND ANSWER ‘‘NO'' TO THE MULTIPLE DEVICE QUESTION

SEE &

* 4.3.4.1 SET SW0O1=1 IN SWITCH REG (LOC. 176)
4.3.4.2 TYPE 200G.
4.3.4.3 PROGRAM WILL START.

4&.3.4.4 THE PROGRAM WILL TYPE '‘TEST PC~-'' AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBOARD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY A <CARRIAGE RETURN>

4.3.64.6 THE PROGRAM WILL TYPE ''R'' TO INDICATE THAT IT HAS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST BE TAKEN WHEN THIS FEATURE IS USED
SINCE THERE IS NO pncrecvxon AGAINST SELECTING AN ADDRESS
THAT IS IN THE MIDDLE OF A TEST
4$.3.5 PROGRAM RESTART WITH SW14 =1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE 1S SELECTED
SEE NOTE IN 4.3.4 FOR MORE DETAILS
$.3.5.1 SET SW14=1 IN SWITCH REG. (LOC. 176)

6.3.5.2 TYPE 2006,
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4.3.5.3 PROGRAM WILL START,

4.3.5.4 THE PROGRAM WILL TYPE "'LOCK ON SELECTED TEST ? (Y OR N)="'
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.5.5 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A

<CARRIAGE RETURN>

IF A_NO ANSWER IS GIVEN: THIS LOCK ON TEST WILL BE IGNOR
AND THE PROGRAM WILL TYPE ''R'' TO INDICATE THAT IT HAS ST
TESTING AT TEST 1

4.3.5.6 IF A YES ANSWER WAS GIVEN:THE PROGRAM WILL ACT AS FOLL
THE PROGRAM WILL TYPE ‘'R'' TO INDICATE THAT IT HAS STAR
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED
OR IF_ANY KEY IS STRUCK ON THE TELETYPE ,THE PROGRAM
WILL FREEZE ON THE NEXT TEST UNTIL A KEY IS STRUCK ON
THE TELETYPE AND SO FORTH THRU THE PROGRAM. IF SWG1 =1
WILL PERFORM AS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE
ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

CPERATING PROCEDURE

OPERATIONAL SWITCH SETTINGS (INTERNAL TO THE CPU, ACCESSED VIA LOC. 176).

SWw15 =1 HALT ON ERROR

SWi4 =1 LOOP ON CURRENT TEST

SW13 =1 INHIBIT ERROR TYPEOUT

SW11l =1 INHIBIT ITERATIONS

SWi0 =1 ESCAPE TO NEXT TEST ON ERROR

SW09 =1 LOOP ON ERROR

SWo1 =1 RESTART PROGRAM AT SELECTED TEST

SW00 =1 RESELECT VECTOR AND CONTROL REGISTER ADRESSES
EPARAMETERS AFTER A PROGRAM RESTART

TO INHIBIT "'END OF PASS'' TYPEOUT = TURN TELETYPE OFF

ERRORS

ERROR HALTS (UNDER
THERE ARE FOUR DIS

PC+2 = ERROR PC
WHERE PC +2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER +2

REFER TO THE ABOVE '‘HLT'* IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK ADDRESS @ RXCSR: TO LOCATE THE DEVICE PRFSENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

PC +2 = REGISTER_ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 122111

WHERE 16XXXX 1S THE ADDRESS OF THE FAILING DEVICE REGISTER

LSl
TINCT ERROR TYPEOUTS

ALL HALT ERRORS RETURN CONTROL TO 0.D.T.)

SEQ 0007
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6.2
6.2.1

6.2.2

6.2.3

6.2.4

6.3
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WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 777777 IS THE ACTUAL CONTENTS OF THAT REGISTER

PC 42 = RECEIVER_ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 111111

WHERE 16XXXX IS THE ADDRESS OF THE FAILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY IS THE EXPECTED DATA CONTENTS OF THAT REGISTER
WHERE 2272777 IS THE ACTUAL DATA CONTENTS OF THAT REGISTER

PC +2 = TRANSMITTER ERROR P(
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 121111

WHERE 16XXXX IS THE-ADDRESS OF THE FAILING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 272717 IS THE ACTUAL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETAILS OF ERRORS

ERROR RECOVERY

SWw15 =0
IF THE PROGRAM IS RUN WITH SW15 =0 ,NO OPERATOR ACTION IS
REQUIRED TO CONTINUE TESTING

SW15 =1

IF_THE PROGRAM IS RUN WITH SW15 =1 ,T0 CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED ,PRESS THE PROCESSOR
CONSOLE ‘'CONTINUE SWITCH"

NOTE: THE PC + 2 OF THE "‘HLT'' WILL BE DISPLAYED IN THE DATA LIGHTS

ILLEGAL INTERRUPTS

IF AN INTERRUPT OCCURS TO A VECTOR ADDRESS NOT SELECTED
DURING PROGRAM INITIALIZATION, THE PROGRAM WILL HALT IN
THE TRAPCATCHER, THE ADDRESS AT WHICH THE PROGRAM
HALTS IS 2 GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTARTED AT 000200 TO

RECOVER FROM THIS ERROR.
ADDITIONAL TROUBLESHOOTING AIDS ERRCNT: & PASCNT:

CHECK THESE TWO TAG LOCATIONS FOR TOTAL # OF ERRORS AND PASSES RESPECTIVELY.

LOADING 000200 AND RESTARTING WILL CLEAR THESE LOCATIONS.

D OF PASS ROUTINE
l? TYPEQUT IS MENTIONED HERE 3R CONVENIENCE

EN
TH
IT IS IN THE FORM:

SEQ 0008
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END OF PASS TAPE Y
16xxxx = DEVICE
WHERE Y IS THE TAPE LOADED
WHERE 16XXXX IS THE DEVICE'S BASE REGISTER ADDRESS
TO INHIBIT THIS TYPEOUT = TURN TELETYPE OFF
7. RESTRICTIONS
7.1 MULTIPLE DEVICES
UP TO 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST HAVE CONTIGUOUS ADDRESSES AND VECTORS
NOTE: IF ALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE °‘‘ZERO: ADD  #10,BASEIV sNEXT BLOCK
(VECTORS)'' TO '‘ZERO:  ADD #0,BASEIV";

THEREBY THE VECTOR ADDRESSES WILL NOT BE
UPDATED AFTER EACH PASS.

Ted DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES
WHEN RUNNING MULTIFLE DEVICES AN ACTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST IE. BIT O FOR

DEVICE O ,BIT 15 FOR DEVICE 15
TO DISQUALIFY DEVICES:

7.2.1 IF DEVICE O IS TO BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWOO =1 AND OMIT THE FIRST DEVICE.

7.2.2 IF HOWEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
ARE TO BE DISQUALIFIED....LOAD THE LOCATION OF ACTREG:
OBSERVE THE ACTIVE BITS (ACTIVE =1, NONACTIVE = 0)

AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.2.2.1 TO RESTART...TYPE 2006...
THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HALTING.

7.2.2.2 vevsessOR .....SET SWO0=1 IN SWITCH REG (LOC. 176) AND TYPE 2006G....
ANSWER THE QUESTION :1ST DEVICE : ETC.ueesosaens
. ' ....THE PROGRAM WILL CONTINUE WITH DEVICE 0

7.2.2.3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE _ THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE.......TYPE 2006.

7.3 CABLE DELAYS
NOTE: EXTERNAL LOOP BACK TESTS ONLY (MODEM CABLE WITH H315 CONNECTOR ON)

7.3.1 10 PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CABLE,
LOCATION ""HOLD:"" MUST BE MCDIFIED TO ACCOMODATE FOR FASTER MACHINES.
PRESENTLY *'HOLD:'* =20 IS SUFFICIENT TIME ON AN 11/21 MACHINE.
BASICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EiA DRIVERS

7.4 TO USE THE "'XOR'* TESTER ,THE BRANCH AROUND THE "‘XOR

D
T
H
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CODE MUST BE PATCHED TO A ''NOP'', (SEE LISTINGS FOR DETAILS)

DEFAULT PARAMETERS:
1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= RXCSR: 174300

VECTOR ADDRESS- DURIV: 330
ARE YOU RUNNING MULTIPLE DEVICES ?= NO MULTD: 0
LAST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= LASTADD: 0
# OF SYNC CHARS SE_ECTED - 2 SYNCNO: 377

IS SEC XMIT SWITCH E55-2 ON?- YES SEXMIT: 377

IS SEC REC SWITCH E55-3 ON?- YES SEREC: 377

IS OPT CLR ENABLE SWITCH E55-=1 ON?- YES OPTCLR: 377

DO YOU HAVE THE_EXTERNAL MODEM BYPASS JUMPER
CONNECTOR ON (H315)= YES JMRBY: 377

PROGRAM DESCRIPTION

FLOW CHARTS: RECEIVER FLOW,TRANSMITTER FLOW,TRANSMITTER & RECEIVER FLOW

REVISION HISTORY

gggggg;oglAGNOSTlc WAS MODIFIED TO WORK IN 11/21 SBC-
PRIORITY 340 WAS CHANGED TO 300 WHEREVER ENCOUNTERED.
DEFAULT CSR AND VECTOR ADDRESSES WERE CHANGED.

VECTOR 140 WAS INITIALIZED TO ODT ADDRESS AND ALSO
BEVNT HANDLED WITH A MESSAGE.

DIAGNOSTIC WAS RENAMED TO CNDUUAO.

LISTINGS

THIS PROGRAM PERFORMS THE OFFLINE COMBINED (TRANSMITTER & RECEIVER)
TIMING & INTERRUPT TESTING OF THE DEVICE
SEE LISTING FOR DETAILS

SEQ 0010
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6489
6583
6584
6585
6596
6610 ’
6611
6612
6673
6674
6879
7007
7??? .SBTTL APT COMMUNICATIONS ROUTINE
(2) AR N A R R AR R P R R RN AR R A RN RN AN N RIR RO RRRRRS
(1) 000000 112767 000001 000236 $ATY1: MOVB  #1 L$FFLG ::T0 REPORT FATAL ERROR
(1) 000006 112767 000001 000226 S$ATY3: MOVB  #1,SMFLG ::T0 TYPE A MESSAGE
(1) 000014 000403 BR $ATYC
(1) 000016 112767 000001 000220 $ATY4: MOVB  #1,$FFLG ::T0 ONLY REPORT FATAL ERROR
(1) 000024 SATYC:
(3) 000024 010046 MOV RO,=(SP) ::PUSH RO ON STACK
(3) 000026 010146 MOV R1,=(SP) ::PUSH R1 ON STACK
(1) 000030 105767 000206 TSTB  SMFLG :;SHOULD TYPE A MESSAGE?
(1) 00003¢ 001450 BEQ 5¢ ::1F NOT: BR
(1) 000036 122767 000001 001502 CMPB  XAPTENV,SENV ..OPERATING UNDER APT?
(1) 000044 001031 BNE 3 :IF NOT: BR
(1) 000046 132767 000100 001473 BITB  HAPTSPOOL,SENVM ..SHOULD SPOOL MESSAGES?
(1) 000054 001425 BEQ 3$ :IF NOT: BR
(1) 000056 017600 000004 MOV a4 (SP) ,RO ::GET MESSAGE ADDR.
(1) 000062 062766 000002 000004 ADD #2,4(SP) : :BUMP RETURN ADDR,
(1) 000070 005767 001432 1%: ST SHSG!YPE ::SEE IF DONE W/ LAST XMISSION?
(1) 000074 001375 BNE 1% S:1F NOT: WAIT
(1) 000076 010067 001440 MOV RO, $MSGAD
(1) ::PUT ADDR IN MAILBOX
(1) 000102 105720 2%: 1518 (RO) + ;:FIND END OF MESSAGE
(1) 000104 001376 BNE 2%
(1) 000106 166700 001430 SUB snssno RO ::SUB START OF MESSAGE
(i) 000112 006200 ASR ::GET MESSAGE LNGTH IN WORDS
(1) 000114 010067 001424 MOV ac ,SMSGLGT ::PUT LENGTH IN MAILBOX
(1) 000120 012767 000004 001400 MOV #4. SMSGTYPE S:TELL APT TO TAKE MSG.
(1) 000126 000413 BR 5¢°
(i) 000130 017667 000004 000016 3%: MOV 34 (SP) , 4% :;PUT MSG ADDR IN JSR L INKAGE
(1) 000136 062766 000002 000004 ADD #2,4(SF) :BUMP RETURN ADDRESS
(3) 000144 016746 177626 MOV 179776, =(SP) ::PUSH 199776 ON STACK
(1) 000150 004767 012736 JSR PC,$TYPE S:CALL TYPE MACRO
(1) 000154 000000 4$: WORD O
(1) 000156 5:
(1) 000156 105767 000062 108: TSTB  SFFLG ::SHOULD REPORT FATAL ERROR?
(1) 000162 001416 BEQ 12% :IF NOT: BR
(1) 000164 005767 001356 ST SENV ..nunnnuc UNDER APT?
(1) 000170 001413 BEQ 12% F NOT: BR
(1) 000172 005767 001330 11%: ST $MSGTYPE ..rlnxsuso LAST MESSAGE?
(1) 000176 001375 BNE 1% F NOT: WAIT
(1) 000200 017667 000004 001322 MOV 34(SP) ,SFATAL  ::GET ERROR #
(1) 000206 062766 000002 000004 ADD #2,4(SP) :BUMP RETURN ADDR.
(1) 000214 005267 001306 INC $MSGTYPE ssTELL APt 10 TAKE ERROR
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CNDUUA.M11 29-0(CT-82 13:27 APT COMMUNICATIONS ROUTINE SEQ 0014
8144 JLIST  ME
8145 CNLIST MC,MD,CND
8147 "ENABLE ABS
8148 000246 PRGFRT “/DUV11 CNDUU=A TAPE E /,*/CNDUU=A/,*/END OF PASS TAPE E/
{1; 000246 SHEADER */1977/.<DUV11 CNDUU=-A rAPE >,<CNDUU=A>,<END OF PASS TAPE E>
(5) :DUV11 CNDUU=A TAPE E
g%g SCOPYRIGHT 1977, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754
(2) ;STARTING PROCEDURE
(2) STYPE 2006 B
(%) ‘PROGRAM WILL TYPE 'DUV11 CNDUU-A TAPE E
(2) *PROGRAM WILL TYPE *R™ T0 INDICATE THAT TESTING WAS STARTED
(2) AT THE END OF A PASS, PROGRAM WILL TYPE "END OF PASS TAPE E'
gg; SAND THEN RESUME TESTING
(2) JTITLE CNDUU=-A
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g ; ;TRAP CATCHER FOR ILLEGAL INTERRUPTS.
(2) 000000 .=0

(3) 000000 000002 .42
(3) 000002 000000 HA%T
(3) 000004 000006 .t
(3) 000006 000000 HALT
(3) 000010 000012 . +2
(3) 000012 000000 HALT
(3) 000014 000016 .+
(3) 000016 000000 HALT
(g) 000020 000022 .42
(3) 000022 000900 HALT
(3) 000024 000026 .+
(3) 000026 000000 HALT
(3) 000030 000032 .42
(3) 000032 000000 HALT
(3) 000034 000036 .+
(3) 000036 000000 HALT
(3) 000040 000042 .42
(3) 000042 000000 HALT
(3) 000044 000046 .+
(3) 000046 000000 HALT
(3) 000050 000052 .42
(3) 000052 000000 HALT
(3) 000054 000056 .+
(3) 000056 000000 HALT
(3) 000060 000062 . +2
(3) 000062 000000 HALT
(3) 000064 000066 .+
(3) 000066 000000 HALT
(3) 000070 000072 .+
(3) 000072 000000 HALT
(3) 00007&¢ 000076 .42
(3) 000076 000000 HALT
(3) 000100 000102 .+
(3) 000102 000000 HALT
(3) 000104 000106 . 42
(3) 000106 000000 HALT
(3) 000110 000112 .42
(3) 000112 000000 HALT
(3) 000114 000116 . 42
(3) 000116 000000 HALT
(3) 000120 000122 .+
(3) 000122 000000 HALT
(3) .000124 000126 . 42
(3) 000126 000000 HALT
(3) 000130 000132 .+
(3) 000132 000000 HALT
(3) 000134 000136 .42
(3) 000136 000000 HALT
(3) 000140 000142 .+
(3) 000142 000000 HALT
(3) 000144 000146 .42
(3) 000146 000000 HALT
(3) 000150 000152 .+2
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(3) 0001§2 000000 HA5T
(3) 000154 000156 o4
(3) 000156 00000 uAgt
(3) 000160 00016 .
(3) 000162 00000 HA%T
(3) 000164 000166 ot
(3) 000166 000000 HA&T
(%) 000170 000178 s®
(3) 000172 00000 HALT
(3) 0001764 000176 2
(3) 000176 000000 HALT
(i) 000200 000202 R
(3) 000202 000900 HALT
(3) 000204 000206 42
(3) 000206 000000 HALT
(3) 000210 000212 R
(3) 000212 000000 HALT
(3) 00021& 000216 .4+
(3) 000216 000000 HALT
(3) 000220 000222 .42
(3) 000222 000000 HALT
(3) 000224 000226 +
(3) 000226 000000 HALT
(3) 000230 000232 .t
(3) 000232 000000 HALT
(3) 000234 000236 .t
(3) 000236 000000 HALT
(3) 000240 000242 .42
(3) 000242 000000 HALT
(3) 000244 000246 .42
(3) 000246 000000 HALT
(3) 000250 000252 g ®
(3) 000252 000000 HALT
(3) 000254 000256 .t
(3) 000256 000000 HALT
(3) 000260 000262 .
(3) 000262 000000 HALT
(3) 0002 000266 ot
(3) 000266 000000 HALT
(3) 000270 000272 RY.
(3) 000272 000000 HALT
(3) 000274 000276 .
(3) 000276 000000 HALT
(3) 000300 000302 +
(3) 000302 000000 HALT
(3) 0003 000306 +
(3) 000306 000000 HALT
(3) 000310 000312 +
(3) 000312 000000 HALT
(3) 000;14 000316 =
(3) 000316 000000 HALT
(3) 000320 000322 .t
(3) 000322 000000 HALT
(3) 000324 000326 +
(3) 000326 000000 HALT
(3) 000330 000332 Y,
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(3) 000332 000000 HALT
(g) 000 g« oooggs .05
(3) 000336 000?0 HA&T
(g) 000340 00034 "
(3) 000342 00000 HAsr
(3) 000344 000346 ot
(3) 000346 ooogog HA%I
(3) 000350 00035 o
(3) 000352 000000 HALT
(3) 000354 000356 ot
(3) 000356 000000 HALT
(3) 000360 000368 +2
(3) 000362 00000 HALT
(3) 000364 000366 42
(3) 000366 000000 HALT
(3) 000370 000372 . +2
(3) 000372 000000 HALT
(3) 000374 000376 .4
(3) 000376 000000 HALT
(3) 000400 000402 .+2
(3) 000402 000000 HALT
(3) 000404 000406 .+2
(3) 000406 000000 HALT
(3) 000410 000412 . *2
(3) 000412 000000 HALT
(3) 000414 000416 .42
(3) 000416 000000 HALT
(3) 000420 000422 .42
(3) 000422 000000 HALT
(3) 000424 000426 R
(3) 000000 HALT
(3) 000430 000432 Y
(3) 000432 000000 HALT
(3) 000434 000436 .42
(3) 000436 000000 HALT
(3) 000440 000442 .42
(3) 000442 000000 HALT
(3) 000444 000446 .42
(3) 000446 000000 HALT
(3) 000450 000452 .42
(3) 000452 000000 HALT
(3) 000454 000456 .42
(3) 000456 000000 HALT
(3) 000460 000462 .42
(3) 000462 000000 HALT
(3) 000464 000466 .+2
(3) 000466 000000 HALT
(3) 000470 000472 Ry
(3) 000472 000000 HALT
(3) 000474 000476 .2
(3) 000476 000000 HALT
(3) 000500 000502 w8
(3) 000502 000000 HALT
(3) 000504 000506 .t
(3) 000506 000000 HALT
(3) 000510 000512 .42



CNDUU=-A MACY11_30(1046) 14=DEC-B2 10:02 PAGE 62-4
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(3) 000512 000000 HA%T
(3) 000514 000516 s ®
(3) 000516 000000 HA%T
(3) 000520 000528 .t
(3) 000522 00000 HA%T
(g) 000524 000526 .+
(3) 000526 060000 HALT
(3) 000530 000532 .+
(3) 000532 000000 HALT
(3) 000534 000536 .t
(3) 000536 000000 HALT
(3) 000540 000542 .42
(3) 000542 0009200 HALT
(3) 000544 000546 Ry
(3) 000546 000000 HALT
(3) 000550 000552 .+
(3) 000552 000000 HALT
(3) 000554 000556 .42
(3) 000556 000000 HALT
(3) 000560 000562 42
(3) 900562 000000 HALT
(3) 000564 000566 42
(3) 000566 000000 HALT
(3) 000570 000572 .2
(3) 000572 000000 HALT
(3) 000574 000576 .42
(3) 000576 000000 HALT
(3) 000600 000602 .42
(3) 000602 000000 HALT
(3) 000604 000606 .42
(3) 000606 000000 HALT
(3) 000610 000612 .*2
(3) 000612 000000 HALT
(3) 000614 000616 42
(3) 000616 000000 HALT
(3) 000620 000622 42
(3) 000622 000000 HALT
(3) 000624 000626 .+2
(3) 000626 000000 HALT
(3) 000630 000632 .42
(3) 000632 000000 HALT
(3) 00063& 000636 .42
(3) 000636 000000 HALT
(3) 000640 000642 Ry
(3) 000642 000000 HALT
(3) 000644 000646 .42
(3) 000646 000000 HALT
(3) 000650 000652 Ry
(3) 000652 000000 HALT
(3) 000654 000656 Ry
(3) 000656 000000 HALT
(3) 000660 000662 .2
(3) 000662 000000 HALT
(3) 000664 000666 08
(3) 000666 000000 HALT
(3) 000670 000672 .42
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(3) 000672 000000 HA%T
(3) 000674 000676 .+
(3) 000676 000000 HAbT
(3) 000700 000702 .+
(3) 000702 000000 HALT
(3) 00070& 000706 XY
(3) 000706 ooooog HALT
(3) 000710 00071 X
(3) 000712 000000 HALT
(3) 000714 000716 XY,
(3) 000716 000000 HALT
(3) ooorso 000722 .+
(3) 000722 000900 HALT
(3) 000724 000726 .+
(3) 000726 000000 HALT
(3) 000730 000732 XY,
(3) 000732 000000 HALT
(3) 00073¢ 000736 42
(3) 000736 000000 HALT
(3) 000740 000742 XY
(3) 000742 000000 HALT
(3) 000744 000746 Ny
(3) 000746 000000 HALT
(3) 000750 000752 XY
(3) 000752 000000 HALT
(3) 000754 000756 XY
(3) 000756 000000 HALT
(3) 000760 000762 XY
(3) 000762 000000 HALT
(3) 000764 000766 40
(3) 000766 000000 HALT
(3) 000770 000772 42
(3) 000772 000000 HALT
(3) 000774 000776 Y
(3) 000776 000000 HALT
(1) 001000 .EQUAT
gg; .SBTTL BASIC DEFINITIONS
(2) 001 IF NB
(2) :*INITIAL ADDRESS OF THE STACK POINTER ##+ wee
@ e -
(2) :*INITIAL ADDRESS OF THE STACK POINTER %% 3100 *e+
(2) 001100 STACK= 1100
(2) 000 LENDC
(2) .EQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
gg; .EQUIV 10T,SCOPE ::BASIC DEFINITION OF SCOPE CALL
(2) :*MISCELLANEOUS DEFINITIONS
(2) 000011 HT= 11 ::CODE FOR HORIZONTAL TAB
(2) 000012 LF= 1; ::CODE FOR LINE FEED
(2) 000015 (R= 1 1:CODE FOR CARRIAGE RETURN
(2) 000200 CRLF= 200 ::CODE FOR CARRIAGE RETURN=-LINE FEED \
(2) 177776 PS= 177776 : SPROCESSOR STATUS WORD
(2) .EQUIV PS,PSW
(2) 1727774 STKLMT= 172774 ::STACK LIMIT REGISTER
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(2) 177775 PIRQ= 177778 ; ;PROGRAM INTERRUPT REQUEST REGISTER
(2) 17757 DSWR= 17757 : sHARDWARE SWITCH REGISTER
(2) 177570 DDISP= 17757C : sHARDWARE DJSPLAY REGISTER
(2) I THS FOLLOWING ODT START ADDRESS FOR SBC 11/21 IS ADDED
(2) 170000 0DTST= 170000
(2) ; *GENERAL PURPOSE REGISTER DEFINITIONS
(2) 000000 = X0 s sGENERAL REGISTER
(2) 000001 R1= 3] : :GENERAL REGISTER
(2) ooooog R2= z; ; ;GENERAL REGISTER
(2) 00000 R3= 2 ; :GENERAL REGISTER
(2) 000004 Ré= 1 ; sGENERAL REGISTER
(2) 000005 RS= x5 s sGENERAL REGISTER
(2) 0009206 R6= X6 s sGENERAL REGISTER
(2) 000007 R7= ¥4 ; :GENERAL REGISTER
(2) 000006 SP= X6 +sSTACK POINTER
3%; 000007 PC= %7 : ;PROGRAM COUNTER
(2) ;*PRIORITY LEVEL DEFINITIONS
(2) 000000 = 0 ssPRIORITY LEVEL 0
(2) 000040 PR1= 40 ;:PRIORITY LEVEL 1
(2) 000100 PR2= 100 ::PRIORITY LEVEL 2
(2) 000140 PR3= 140 ;sPRIORITY LEVEL 3
(2) 000200 PRé= 200 ;:PRIORITY LEVEL &
(2) 000240 PRS= %40 ;:PRIORITY LEVEL S
(2) 000300 PR6= 00 ;:PRIORITY LEVEL 6
gg; 000340 PR7= 340 ;sPRIORITY LEVEL 7
(2) s*"'SWITCH REGISTER'' SWITCH DEFINITIONS
(2) 100000 SW15= 100000
(2) 040000 SWié= 40000
(2) 020000 SWi3= 20000
(2) 010000 SWi2= 10000
(2) 004000 SWil= 4000
(2) 002000 SW10= 2000
(2) 001000 SW09= 1000
(2) 00400 SW08= 400
(2) 00200 SW07= 200
(2) 000100 SWwo6= 100
(2) 000040 SW05= 40
(2) 000020 SWo4= 20
(2) 000010 SWw03= 10
(2) 000004 SWwi2= &
(2) 000002 SWo1l= 2
(2) 000001 SW00= 1
(2) LEQUIV SW09,Sw9
(2) LEQUIV SWO08,Sw8
(2) EQUIV SW07,Sw7
(2) LEQUIV SW06,SWé
(2) LEQUIV SWO0S,SWS
(2) LEQUIV SWO04,SwWé
(2) LEQUIV Sw03,Sw3
(2) LEQUIV SWw02,Sw2
(2) LEQUIV SW01,Sw1
(2) LEQUIV SWO00,SW0
gg; 001 JF B ©
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(2) +«DATA BIT Dsrlnxtlons (BITO0 TO BIT1S)
(2) 100000 B8IT15= 100000
(2) 040000 BIT14= 40000
(2) 020000 BIT13= 20000
(2) 010000 BIT12= 10000
(%) 004000 BIT11= 4000
(2) 002000 BIT10= 2000
(2) 001000 BIT09= 1000
(2) 000400 BIT08= 400
(2) 000200 BIT07= 200
(2) 000100 BIT06= 100
(2) 000040 BIT05= 40
(2) 000920 BIT04= 20
(2) 000010 BIT03= 10
(2) 000004 BIT02= &
(2) 000002 BITO1= 2
(2) 000001 BITOO=
(2) .EQUIV B;T09,BIT9
(2) .EQUIV BITL?,BIT7
(2) .EOCiv BIT06,81T6
(2) JEQUIV BIT04.BIT4
(2) .EQUIV BIT03.BIT3
(2) .EQUIV BIT02.BIT2
(2) .EQulv BITO1,BITI
(2) .EQUIV BIT00,BITO
(2) 000 JENDC
55; 001 JAF B ©
(2) :*BASIC "'CPU'' TRAP VECTOR ADDRESSES
(2) 000004 ERRVEC= & ::TIME OUT AND OTHER ERRORS
(2) 000010 RESVEC= 10 : ;RESERVED AND ILLEGAL INSTRUCTIONS
(2) 000014 TBITVEC=14 IUTURIT
(2) 000014 TRTVEC= 14 ;s TRACE TRAP
(2) 000014 BPTVEC= 14 : :BREAKPOINT TRAP (BPT)
(2) 000020 I0TVEC= 20 : s INPUT/0UTPUT TRAP (JOT) ««SCOPE*+
(2) 000024 PWRVEC= 24 : sPOWER FAIL
(2) 000030 EMTVEC= 30 : ;EMULATOR TRAP (EMT) ~+ERROR®+
(2) 000034 TRAPVE(C=34 : :"'"TRAP'' TRAP
(2) 000060 TKVEC= 60 ::TTY KEYBOARD VECTOR
(2) 000064 TPVEC= 66 STTY PRINTER VECTOR
(2) ;eesse  THE FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
(2) 000100 LKVEC= 100 ;:LINE CLOCK VECTOR
(2) 000140 : BRKVEC= 140 : :BREAK VECTOR
(2) 000240 PIRQVEC=240 : PROGRAM INTERRUPT REQUEST VECTOR
(2) 000 LENDC
(1) 001000 $SETVEC
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I ; s STANDARD INTERRUPT VECTORS

(2)

(2) 000174 =174

(2) 000174 000000 DISPREG:0

(2) 000176 000000 SWREG:0

(2) 000200 .=200

2%; 000200 000167 001746 JMP +START ;GO TO START OF PROGRAM

(2)

I}I 000204 $VARIA

(2) 001100 .=1100

(2) 001100 000000 .WORD 0

2%; 001102 177570 LIGHTS:177570

3

:%; ;PROGRAM CONTROL PARAMETERS

(2) 001104 000000 RETURN: 0

(2) 001106 000000 NEXT: O ;ADDRESS OF NEXT TEST TO BE EXECUTED
(2) 001110 000000 LOCK: D ;ADDRESS FOR LOCK ON CURRENT DATA
(2) 001112 000000 PASCNT: 0 ; ADDRESS’ CONTAINING PASS COUNT

(2) 001114 000000 ERRCNT: 0 : ERROR COUNT

{%; 001116 000000 SAVSP: 0 s STACK POINTER STORAGE

Ig; :PROGRAM VARIABLES

(2) 001120 000020 HOLD: 20 : TEMPORARY STORAGE=DELAY TIME FOR CABLES
(2) 001122 000000 SHIFT: 0 : TEMPORARY STORAGE= # OF SHIFTS PER CHAR
(2) 001124 000000 COUNT: 0 ; TEMPORARY STORAGE= # OF TIMES A CHAR WILL BE SENT
(2) 001126 000000 SAVPC: 0 :PROGRAM COUNTER STORAGE

(2) 001130 000000 HLDO: 0

(2) 001132 000000 HLD1: O

(2) 001134 000000 HLD2: 0

(2) 001136 000000 HLD3: 0

(2) 001140 000000 HLD4: 0

(2) 001142 000000 HLD5: 0

ISI 001144 000000 HLD6: 0
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(2) PROGRAH onanSAtlouAL PARAME TERS
(2) 001146 §77 SYNCNO: .BYTE 7 # OF SYNC CHARS REQ'D FOR SYNC'ZATION
(2) 001147 77 SEXMIT: .BYTE 77 :SEC XMIT JUMPER ‘'IN''
(2) 001150 377 SEREC: .BYTE 77 :SEC REC JUMPER "IN’ .
(2) 001151 377 OPTCLR: .BYTE 77 :OPTIONAL JUMPER CLR °*'IN'
(2) 00115; 000 MULTD: .BYTE :NO MULTIPLE DEVICE FLAG ol
g%; 00115 377 Jgsgaz BYTE 377 ;EXTERNAL MODEM BYPASS JUMPER ''IN
(2)
(2) ;PROGRAM MULTIPLE DEVICE PARAME TERS
(2) 001154 000000 BASEADD: 0 ROG CONTROLLED 1ST DEVICE ADDR
(2) 001156 000000 KEEPADD : 0 :SAVED 1ST DEVICE ADDR
(2) 001160 000900 LASTADD : 0 ;LAST DEVICE RXCSR ADDR
(2) 001162 000000 BASEIV: 0 :PROG CONTROLLED 1V
(2) 001164 000000 KEEPIV: 0 :SAVED INTR VECTOR
(2) 001166 000000 ACTREG: 0 :ACTIVE REGISTER ,, . MODIFY THIS
(2) :LOCATION TO DISQUALIFY OR QUALIFY
(2) :DEVICES (1= RUN,,,0= DON'T RUN)
(2) 001170 000000 ROTADD: 0 :ROTATING POINTER FOR ACTREG..POINTS
gg; ;70 DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DEVICES
55; :PROGRAM CONTROL FLAGS
(2) 001172 000 INIFLG: .BYTE 0 :PROGRAM INITIALIZATION FLAG
(2) 001173 000 STFLG: .BYTE O :TEST START FLAG
(2) 001174 000 LOKFLG: .BYTE 0 :LOCK ON CURRENT TEST FLAG
(2) 001176 .EVEN
(1) 001400 .=1400
g;; 001400 $SYMBOLS
(2)
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BASIC DEFINITIONS

s INSTRUCTION DEFINITIONS

PUSH1SP=5746 ;DECREMENT PROCESSOR STACK 1 WORD
POP1SP=5726 ; INCREMENT PROCESSOR STACK 1 WORD
PUSHRO=100406 :SAVE RO ON STACK =MOV RO,=(SP)

POPR0=12600 ‘RESTORE RO FROM STACK =MOV (SP)+,
PUSH2SP=24646  :DECREMENT STACK TWICE =CMP =(SP),
POP2SP=22626  :INCREMENT STACK TWICE =CMP (SP)+,
;REGISTER DEF INITIONS

-RXCSR BIT DEFINITIONS
DSC=BIT15 :DATA SET CHANGE
RING=BIT14 *RING
CTS=BIT13 :CLR TO SEND
CARDET=BIT12 :CARRIER DETECT
RECACT=BIT11 *REC ACTIVE
SRD=BIT10 :SEC REC DATA
DSR=BIT9 :DATA SET RDY
STPSYN=BIT8 SSTRIP SYNC
RXDONE=BIT7 :REC DONE
RINTEN=BIT6 *REC INTR ENABLE
DSINTE=BITS :DSC INTR ENABLE
SYNSCH=BI T4 :SYNC SEARCH
STD=BIT3 :SEC XMIT DATA
RTS=BIT?2 *REQ TO SEND
DTR=BIT1 :DATA TERM RDY
VOID=BITO

:RXDBUF BIT DEFINITIONS
RXERR=BIT15 :REC ERROR
OVRRUN=BIT14 *OVERRUN
FRMERR=BIT13 :FRAME ERROR
PARER=BIT12 ‘PARITY ERROR

:PARCSR BIT DEFINITIONS
PAREN=B]T9 :PARITY ENABLE :
EVPAR=B] T8 ‘EVEN PARITY SENSE

PARCSR WRD DEF INITIONS
SYNINT=30000 :SYNC EXTERNAL MODE
SYNEXT=20000 :SYNC INTERNAL MODE
1SYMOD=0 :1S0C MODE
FIVE=0 *WORD LENGTH § BITS
$1x=2000 *WORD LENGTH 6 BITS
SEVEN=-4000 *WORD LENGTH 7 BITS
EIGHT=6000 *WORD LENGTH 8 BITS
NOPAR=0 NO PARITY
ODDPAR=1000 100D PARITY
EVEPAR=1400 “EVEN PARITY

-TXCSR BI1T DEFINITIONS
DNA=BIT15 :DATA NOT AVAILABLE
MTDATA=BIT14 SMAINT DATA
CLK=BIT13 s CLK
BITW=BIT10 ‘BIT WINDOW
MRESET=BIT8 ‘MASTER RESET
TXDONE=B] 17 *XMIT DONE
TXINTE=BIT6 TXMIT INTR ENABLE

SEQ 0024
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DNAINTE=BITS :DNA INTR ENAB
: SEND

3 uox/rox

0 REAK

:TXCSR WRD DEFINlTlgNS -

D
;MAINT IN
i

CNDUU=-A MACY11_30(10
N2 CNDUUA.M11 29-0CT

OO*

SMAINT E
0 :SYSTEM
0%5...ENDTAB

[eloleleBelelel
OO0 O00O
OCOO00 O=MNs&H
OO0 =000

c

w

m

E

T MODE
T MODE
EST MODE
001400 .$C

«D— N U N
—P>OP =50

NELS ::CONTAINS ((SREGAD)+'B)
SCH1-SCH101

$CM2=3(M2+2

LIST

.ENDM  $SCMREG

.MACRO SSCMTMP A

$TMP'A: .WORD 0 :;USER DEF INED

.NLIST
SCML=S(ML+1T
LIST

.ENDM  $SCMTMP

el alarelalalalalalal il Ll oo ol L I

NN N NN NINIAININ =N NN NN
o N ! o N N N il P N b
L ad
=2
fﬂ
(]
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g ; .SBTTL COMMON TAGS
(2) 001400 STARS
(3) 001 JF B
( ) :it!l'!!tt'tltt!Qt'it"'tt't'i'ttttttittilit.i.titi..ti'i'.it'tti
(3) IFF
(3) NLIST
(%) -RcPT
(3) LLIST
(3) ::tt.tttt't"t't"tt'tttt'it'ttt'ttti't'iitt.tt.tttit.'.t'ttt.tt'
(3) NLIST
(3) .ENDR
(3) JLIST
(3) 000 JENDC
(2) :+THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
:gg S+USED IN THE PROGRAM.
(2) 001 JIF NB .
(2) 001400 =,
(2) JIFF
(%) .=1100
(2) 000 LENDC
(2) 001400 $CMTAG: ;:START OF COMMON TAGS
(2) 001 .iF NB ENDTAB
zg; 001400 000000 il MORD O
(2) $PASS: .WORD O ::CONTAINS PASS COUNT
(2) 000 .ENDC
(2) 001402 000 $TSTNM: .BYTE 0 :;CONTAINS THE TEST NUMBER
(2) 001403 000 SERFLG: .BYTE 0 ::CONTAINS ERROR FLAG
(2) 001404 000000 $ICNT: .WORD O :CONTAINS SUBTEST ITERATION COUNT
(2) 001406 000000 SLPADR: .WORD O $CONTAINS SCOPE LOOP ADDRESS
(2) 001410 000000 SLPERR: .WORD O P CONTAINS SCOPE RETURN FOR ERRORS
(2) 001412 000000 $SERTTL: .WORD O ::CONTAINS TOTAL ERRORS DETECTED
(2) 001414 000 $ITEMB: .BYTE 0 ::CONTAINS ITEM CONTROL BYTE
(2) 001415 001 $ERMAX: .BYTE 1 ::CONTAINS MAX. ERRORS PER TEST
- (2) 001416 000000 $SERRPC: .WORD O $:CONTAINS PC OF LAST ERROR INSTRUCTION
(2) 001420 000000 $GDADR: .WORD O :3CONTAINS ADDRESS OF ‘GOOD' DATA
(2) 001422 000000 $8D 'R: .WORD O :;CONTAINS ADDRESS OF 'BAD' DATA
(2) 001424 000000 $GDDAT: .WORD O ::CONTAINS 'GOOD® DATA
(2) 001426 000000 $BDDAT: .WORD O ::CONTAINS °*BAD' DATA
(2) 001430 000000 WORD 0 : RESERVED==NOT TO BE USED
(2) 001432 000000 WORD 0
(2) 001434 000 $AUTOB: .BYTE 0 : :AUTOMATIC MODE INDICATOR
(2) 001435 000 $INTAG: .BYTE O : S INTERRUPT MODE INDICATOR
(2) 001436 000000 WORD O
(2) 001440 177570 SWR: .WORD  DSWR :;ADDRESS OF SWITCH REGISTER
(2) 001442 177570 DISPLAY: .WORD DDISP ::ADDRESS OF DISPLAY REGISTER
(2) 001444 177560 $TKS: 177560 SITTY KBD STATUS
(2) 001446 177562 $TKB: 177562 SSTTY KBD BUFFER
(2) 001450 177564 $TPS: 177564 SSTTY PRINTER STATUS REG. ADDRESS
(2) 001452 177566 $TPB: 177566 S:TTY PRINTER BUFFER REG. ADDRESS
(2) 001454 000 $NULL: .BYTE 0 *:CONTAINS NULL CHARACTER FOR FILLS
(2) 001455 002 $FILLS: .BYTE 2
(2) - CONTAINS # OF FILLER CHARACTERS REQUIRED p
(2) 001456 012 $FILLC: BYTE 12 ::INSERT FILL CHARS. AFTER A “‘LINE FEED
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000
001

000006
000
001

000000

000000

0009200
000006

000000
000001
000002

000000
000002
000104

000000
000003
000006

000000
000004
000010

000000
000005
000012

000000
000006
000014

000

001
000000
000006

000000
000001

000000
000002

000009
000003

1&-9EC-82 10:02 PAGE _62-13
3:2 COMMON TAGS

$TPFLG: .BYTE
B 6

IF

NLIST

$CM3=0

LLIST

. IFF

$CM3=6

.ENDC

.JF NE $C{M3

$REGAD: .WORD

SCH1=8

$CM2=
REPT
$$
.END
3

$REGO: .WORD

S$SCM1=8SCM1+1

$CM2=8(CM2+2
$$C

$REG1: .WORD

$CM1=SCM1+1

$CM2=8(M2+2
$8(

$REGS5: .WORD
SCM1=SCM1+1
$CM2=$(M2+2

REPT 6
SSCH;HP \$CMé

-END

SSCMTMP \S$CM4
$TMPO: .WORD
S$CML=SCM4L+1
$SSCMTMP \$CMé
$TMP1: .WORD
SCML=SCM4L+1
SSCMTMP \$CMé
$TMP2: .WORD
SCML=$CML+1
SSCMTMP \$(Mé

$CM3
\$CM1,\$CM2

\$CM1,\$CM2
0
\$CM1,\$(M2
0
\$CM1,\$CM2
0
\$CM1,\8CM2
0
38(!1.\SCH2

65(!1.\8("2

;' 'TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)

;s CONTAINS THE ADDRESS FRCM

;sWHICH (SREGO) WAS OBTAINED

;s CONTAINS ((SREGAD)+0)

;s CONTAINS ((SREGAD)+2)

s ;CONTAINS ((SREGAD)+4)

: ;CONTAINS ((SREGAD)+6)

:sCONTAINS ((SREGAD)+10)

:sCONTAINS ((SREGAD)+12)

: sUSER DEF INED
: sUSER DEF INED

:sUSER DEF INED

SEQ 0027
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5 CNDUUA.M11 -0CT-82 COMMON TAGS SEQ 0028
(&) 001504 000000 $TMP3: .WORD O s sUSER DEFINED
(&) 000004 $CML=SCML+1
(3) 001506 $SSCMTMP \$(M&
(¢) 001506 000000 $TMP4: .WORD O s sUSER DEFINED
(%) 000005 $CML=SCM4+1
(3) 001510 SSCHTHP \$(Mé
(4) 001510 000000 $TMPS: .WORD O s sUSER DEF INED
(&) 000006 $CML=SCM4+1
(2) 000 ENDC
(2) 001 .IF NE $SWRR4000
(2) 001512 000000 $STIMES: 0 s sMAX. NUMBER OF ITERATIONS
(%) 000 +ENDC
(2) 201 .JF NE 10008$SWR
(2) 00151&¢ 000000 $ESCAPE:0 ;sESCAPE ON ERROR ADDRESS
(2) 000 ENDC
(2) 001 .JF NE 20008$SWR
g%; 001516 177885 000377 Sgsk%: LASCIZ  <207><377><377> ;;CODE FOR BELL
(2) 001522 077 $QUES: .ASCII 7%/ ssQUESTION MARK
(2) 001523 015 $CRLF: LJASCI] <15 s sCARRIAGE RETURN
(2) 001524 000012 SLF: LASCIZ <1 ssLINE FEED
(2) .J1F NE 1&.. .EVEN
(2) 001526 STARS
(3) 001 JAF B
(%) IR RN RN RN TR AT T AR NN R RN R RRARAERRR AR RACA ORI O RN RNt
(3) « JFY
(3) NLIST
(3) «REPT
(3) LIST
(%) IR R RN R R RN R AR R RPN AR RN AR AR AR RRRRARRCRR RN RN,
(3) NLIST
(3) .ENDR
(3) .LIST
(3) 000 .ENDC
(2) 001 .IF NB ENDTAB
(2) 001526 .SAPTBLS <ENDTAB>
gg; .SBTTL APT MAILBOX=-ETABLE
(3) 001526 STARS
(&) 002 .IF B
(4) ttttttttttttt'ttttntttttotttnttttttttttttttttt'ttttttttttttttt
(4) .IFF
(%) NLIST
(4) .REPT
(&) .LISI
(4) lt!ttttttttttttttttttt't'ttitttttttttttttt.tt.itttttt'tttt.tttt
(4) NLIST
(4) .ENDR
(4) LIST
(&) 001 ENDC
(3) LNLIST ME
(3) H
(3) :
(3)
(3) .11F NDF ,AMSGTY,AMSGTY=0
(3) .11F NDF ,ATESTN,ATESTN=0
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MAILBOX-ETABLE

NDF ,APASS ,APASS=0
NDF _ADEVCT,ADEVCT=0
NDF AFATAL .AFATAL=0

NDF ,AUNIT,AUNIT=0
NDF . AMSGAD , AMSGAD=0
NDF ,AMSGLG, AMSGLG=0
NDF L AENV , AENV=0
NDF . AENVM, AENVM=0
NDF ,ASWREG , ASWREG=0
NDF _AUSWR , AUSWR=0
NDF ,ACPUOP , ACPUOP
NDF _AMAMS 1 , AMAMS
NDF _AMTYP1 . AMTYP
NDF . AMADR1 . AMADR
NDF JAMAMS 2 . AMAMS
NDF CAMTYP2 . AMTYP
NDF _AMADRZ . AMADR
NDF , AMAMS 3 . AMAMS
NDF CAMTYP3 AMTYP
NDF _AMADR3  AMADR
NDF . AMAMS% . AMAMS
NDF CAMTYP4 . AMTYP
NDF . AMADR& . AMADR
NDF LAVECT1,AVEC
NDF LAVECT2.AVEC
NDF _APRIOR ,APRI
NDF . ABASE , ABASE =
NDF ,ADE VM, ADE VM=
NDF CACDW1 .ACDW1=
NDF . ACDW2 . ACDW2=
NDF ,ADDWO . ADDWO=
NDF ,ADDW1 . ADDW1=
NDF .ADDW2 . ADDW2=
NDF ,ADDW3 ., ADDW3=
NDF _ADDW& . ADDW& =
NDF _ADDWS . ADDWS=
NDF _ADDWG . ADDWb=
NDF _ADDW7 . ADDW7=
NDF _ADDWS . ADDW8=
1
1
1
1
1
1

O——
COO0O0O0O0O0OOOO0O0O000

VIS BN =000 000000O0O0O0OCOO NI =8 55 5 LWIWNIWWNININ) = — -

0noaounnu
(=lelelele )

NDF _ADDWS | ADDWS
NDF _ADDW10, ADDW
NDF _ADDW11 . ADDW
NDF - ADDW12 . ADDW
NDF _ADDW13 . ADDW
NDF _ADDW14 . ADDW
NgE.ADDU1S.ADDU

Y: .WORD  AMSGTY
L: .WORD  AFATAL

$STESTN: .WORD  ATESITN
$PASS: .WORD  APASS
$DEVCT: .WORD  ADEVCT

::APT MAILBOX
::MESSAGE TYPE CODE
;:FATAL ERROR NUMBER
::TEST NUMBER

s sPASS COUNT
:sDEVICE COUNT

SEQ 0029
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CNDUUA.M11 29-0CT-82 13:2 APT MAILBOX-ETABLE SEQ 0030
(3) 001540 000000 SUNIT: .WORD AUNIT  ;:1/0 UNIT NUMBER
(3) 001542 000000 $SMSGAD: .WORD  AMSGAD : :MESSAGE ADDRESS
<%) 001544 000000 $MSGLG: .WORD  AMSGLG ::MESSAGE LENGTH
(3) 001546 $ETABLE: SIAPT euvxaounsur TABLE
(3) 001546 000 SENV: .BYTE AENV  ::ENVIRONMENT BYTE
(3) 001547 000 SENVM: .BYTE _ AENVM
(3) ENVIRONMENT MODE BITS
(3) 001550 000000 §4GREG: . WORD ASWREG ;:APT SWITCH REGISTER
(3) 001552 000000 SUSWR: .WORD AUSWR  ::USER SWITCHES
(3) 001554 000000 scpuor .WORD ACPUOP ::CPU TYPE,OPTIONS
(3) L BITS 15=11=CPU TYPE
(3) e 11/94=81.11 /05= oz 11/20=03,11/40=04,11/45=05
(3) e 11/70=06.PD@=07,0=10
(3) e BIT 10=REAL TIME CLOCK
(3) e BIT 9=FLOATING POINT PROCESSOR
(3) v BIT B8=MEMORY MANAGE Enr
(3) 002 .IF IDN <ENDTAB>,<$CPUOP>
(3) $ETEND:
(3) CMEXIT
(3) 001 -ENDC
(3) 001556 000 $MAMS1: .BYTE  AMAMS1 ;:HIGH ADDRESS.M.S. BYTE
(3) 001557 000 $SMTYP1: .BYTE AMTYP1 ::MEM. TYPE BLKHI
(3) e MEM.TYPE BYTE == (HIGH BYTE)
(3) e 900 NSEC CORE=001
(3) e 300 NSEC BIPOLAR=002
(3) ‘o 500 NSEC MOS=003
(3) 001550 000000 $MADR1: .WORD  AMADR1 ;;HIGH ADDRESS,BLK#1 gl
(3) e MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF “‘TYPE'' ABOVE
(3) 002 .JF IDN <ENDTAB>,<$MADR1>
(3) SETEND:
(3) CMEXIT
(3) 001 JENDC
(3) 001562 000 SMAMS2: .BYTE  AMAMS2 ;:HIGH ADDRESS,M.S. BYTE
(3) 001563 000 SMTYP2: .BYTE AMTYPZ ::MEM.TYPE,BLK#?
(3) 001564 000000 $SMADR2: .WORD  AMADR2 ::MEM.LAST ADDRESS,BLKA?
(3 002 .IF IDN <ENDTAB>,<$MADR2>
(3) $ETEND:
(3) CMEXIT
(3) 001 -ENDC
(3) 001566 000 SMAMS3: .BYTE  AMAMS3 ;:HIGH ADDRESS,M.S.BYTE
(3) 001567 000 SMTYP3: .BYTE AMTYP3 ::MEM.TYPE,BLKA3
(3) 001570 000000 $SMADR3: .WORD AMADR3 ::MEM.LAST ADDRESS,BLKA3
(3) 002 .IF IDN <ENDTAB>,<$MADR3>
(3) $ETEND:
(3) CMEX]T
(3) 001 “ENDC
(3) 001572 000 $MAMS4: .BYTE  AMAMS4 ;:HIGH ADDRESS.M.S.BYTE
(3) 001573 000 $SMTYP4: .BYTE  AMTYP4 ::MEM.TYPE,BLK#4
(3) 001574 000000 $MADRG: .WORD  AMADRG - :MEM.LAST ADDRESS.BLK#4
(3) 002 .IF IDN <ENDTAB>,<$MADR4>
(3) $ETEND:
(3) JMEXIT
(3) 001 -ENDC
(3) 001576 000000 $VECT1: .WORD AVECT1 ..lNTERRUPI VECTOR#1,BUS PRIORITY#1
(;; 002 .IF IDN <Ecg:‘AB> LSOVECT
(
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(3 SETEND:
(3 LMEXIT
(3) ) 001 LENDC
(3) 001600 000000 SVECT?2:
(3) 002 JIF IDN
(g)
(3) SETEND:
(3) LMEXIT
(3) 001 LENDC
t%; 0016092 000000 $BASE :
(3) 002 .IF IDN
(3) $SETEND:
(3) LMEXIT
(3) 001 LENDC
(3) 001604 000000 $DEVM:
(3) 002 ..F IDN
(3) SETEND:
(3 LMEXIT
(3 001 LENDC
(3) 001606 000000 $CDOW1:
(3) 002 .IF IDN
(3) SETEND:
(3 LMEXIT
(3 001 LENDC
(3) 001610 000000 $COW2:
(3) 002 .JF IDN
(3) SETEND:
(3) LMEXIT
(3 001 .ENDC
(3) 001612 000000 $DDWO:
(3) 002 .JF IDN
(3) SETEND
(3) LMEXIT
(3) 001 .ENDC
(3) 001614 000000 $DDW1:
(3) 002 .1F IDN
(3) SETEND:
(3) LMEXIT
(3) 001 LENDC
(3) 001616 000000 $DDW?2:
(3) 002 .IF IDN
(3) SETEND
(3) MEXIT
(3) 001 .ENDC
(3) 001620 000000 $DDW3:
(3) 002 .1F IDN
(3) SETEND
(3) MEXIT
(3 001 LENDC
(3) 001622 000000 $DDWé:
(3 002 .1F IDN
(%) SETEND:
(%) LMEXIT
(3) 001 LENDC
(5) 001626 000000 $ODWS:

62-17
LBOX-ETABLE

LWORD AVECT2 ::INTERRUPT VECTOR#2BUS PRIORITY®?
<EugLAB>.<SVECTZ>

.WORD  ABASE
: :BASE ADDRESS OF EQUIPMENT UNDER TEST
<ENDTAB>, <$BASE>

.WORD ADEVM  ;:;DEVICE MAP
<ENDTAB>,<SDEVM>

.WORD  ACDW1  ;;CONTROLLER DESCRIPTION WORD#1
<ENDTAB>,<$CDW1>

.WORD  ACDW2 _ ;;CONTROLLER DESCRIPTION WORD#?
<ENDTAB>,<$(DuW2>

.WORD  ADDWO  ;;DEVICE DESCRIPTOR WORD#0

<ENDTAB>,<$DDW0>

.WORD ADDWI1 ::DEVICE DESCRIPTOR WORD#1
<ENDTAB>,<$DDW1>

.WORD  ADDW2 _ ;;DEVICE DESCRIPTOR WORD#?

<ENDTAB>,<$DDW2>

.WORD  ADDW3 _ ;:DEVICE DESCRIPTOR WORD#3

<ENDTAB>,<$DDW3>

.WORD  ADDW&  ;:DEVICE DESCRIPTOR WORDA4
<ENDTAB>,<$DDW&>

.WORD  ADDWS  ;;DEVICE DESCRIPTOR WORD#S

SEQ 0031
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001632
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002
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000

(=]=l=]
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000000
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APT MAILBOX-ETABLE

.Jf IDN
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<ENDTAB>,<$DDWS>

.WORD  ADDW6

ssDEVICE
<ENDTAB>,<SDDW6>

.WORD  ADDW7

ssDEVICE
<ENDTAB>,<SDDW7>

.WORD  ADDWS8

s sDEVICE
<ENDTAB>,<$DDW8>

.WORD  ADDW9

:sDEVICE
<ENDTAB>,<$DDW9>

.WORD ADDWI0 ;;DEVICE
<ENDTAB>,<$DDW10>

: .WORD  ADDW11 ;:DEVICE

<ENDTAB>,<$DDW11>

.WORD  ADDW12 _;:DEVICE
<ENDTAB>,<$DDW12>

.WORD  ADDW13 ::DEVICE
<ENDTAB>,<$DDW13>

.WORD ADDW14 ;:DEVICE
<ENDTAB>,<$DDW14>

.WORD  ADDW1S5 ;;DEVICE
<ENDTAB>,<$DDW15>

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

WORD#6

WORD#7

WORD#8

WORD#9

WORD#10

WORD#11

WORD#12

WORD#13

WORD#14

WORD#15

SEQ 0032
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20 CNDUUA .M 29-0CT-82 13:27 APT MAILBOX=-ETABLE SEQ 0033
é;; 001652 SETEND:
(2) 000 +ENDC
(2) 001 .IF NB <$SYMBOLS>
(2) .IRP A,<$S5YMBOL 5>
(2) i
(3) . ENDM
zz; 001652 $SYMBOLS
(4)
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10:02_ _PAGE 62-20
APT MAILBOX-ETABLE

: INSTRUCTION DEFINITIONS

PUSH1SP=5746
POP1SP=5726
PUSHRO=10046 :SAVE RO

;DECREMENT PROCESSOR STACK 1 WORD =TST
: INCREMENT PROCESSOR STACK 1 WORD =TST (

ON STACK =MOV RO,=(SP)

POPR0=12600 *RESTORE RO FROM STACK =MOV (SP)+,R0
PUSH2SP=24646 .oecaeneut STACK TWICE =CMP =(SP).=(SP)
POP2SP=22626  : INCREMENT STACK TWICE =CMP (SP)+.(SP)+
;REGISTER DEFINITIONS

-RXCSR BIT DEFINITIONS
pSC=c1T15 DATA SET CHANGE
RING=BIT14 RING
CTS=BIT13 CLR T0 SEND
CARDET=BIT12 :CARRIER DETECT
RECACT=BIT11 SREC ACTIVE
SRD=BI1T10 :SEC REC DATA
DSR=B]T9 :DATA SET RDY
STPSYN=BIT8 SSTRIP SYNC
RXDONE=BIT7 :REC DONE
RINTEN=BIT6 *REC INTR ENABLE
DSINTE=BITS :DSC INTR ENABLE
svuscuzgxta :SYNC SEARCH
STD=BIT SSEC XMIT DATA
RTS=BIT2 PREQ TO SEND
DTR=BITI :DATA TERM RDY
VOID=BITO

:RXDBUF BIT DEFINITIONS
RXERR=B] 115 :REC ERROR
OVRRUN=BIT14 :OVERRUN
FRMERR=BIT13 sFRAME ERROR
PARER=B]T12 ‘PARITY ERROR

:PARCSR BIT DEFINITIONS
PAREN=BIT9 ;PARITY ENABLE
EVPAR=B] T8 SEVEN PARITY SENSE

:PARCSR WRD DEF INITIONS
SYNINT=30000 :SYNC EXTERNAL MODE
SYNEXT= zoooo SSYNC INTERNAL MODE
1SYMOD=0 :1S0C MODE
FIVE=0 ‘WORD LENGTH S BITS
SIx=2000 ‘WORD LENGTH & BITS
SEVEN=4000 :WORD LENGTH 7 BITS
EIGHT=6000 ‘WORD LENGTH 8 BITS
NOPAR=0 *NO PARITY
ODDPAR=1000 100D PARITY

EVEPAR=1400

) ey | =4
OO ——0D -
) e
—_—y—_ -
O~ ~0D -t
»

:EVEN PARITY

:TXCSR BIT osrlultxo

DATA NOT AVAILABLE
HAIN! DATA
;CLK
:BIT WINDOW
iMASTER RESET
:XMIT DONE
(XMIT INTR ENABLE

SEQ 0034
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10:02__PAGE 62-21

APT MAILBOX-ETABLE
DNAINTE =BITS ;DNA INTR ENAB
: SEND

SEND=BI T4
HDXEN=BIT3 THDX/FDX
BREAK=BIT0 BREAK

:TXCSR WRD oernultxous
USER=0 :USER MODE
MINT=4000 SMAINT INT MODE
MEXT=10000 TMAINT EXT MODE
sggg§r=1¢ooo SSYSTEM TEST MODE

SEQ 0035
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23 CNDUUA. M1 8-0( gZ 13:29 ERROR POINTER TABLE SEQ 0036

z ; .SBTTL ERROR POINTER TABLE

(2) ;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN occun
(2) t«THE INFORMATION 1S OBTAINED BY USING THE INDEX NUMBER FOUND I
(2) :«LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE xs PERTINENT.
(2) S*NOTE1: If SITEMB IS O THE ONLY PERTINENT DATA IS (SERR
:%; SeNOTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
(2) e {0 ;;POINTS TO THE ERROR MESSAGE

(2) e DH ::POINTS TO THE DATA HEADER

(2) e DT ::POINTS TO THE DATA

25; e DF S:POINTS TO THE DATA FORMAT

(2)

(2) 001652 $ERRTB:

(1) ;ERROR TABLE

(1) 001652 001762 EM1 :ERROR 1 REGISTER ERROR

(1) 001654 002067 DH1

(1) 001656 002116 DT1

(1) 001660 002132 DF1

(1) 001662 002022 EM2 ;ERROR 2 RECEIVER ERROR

(1) 001664 002067 DH1

(1) 001666 002116 oT1

(1) 001670 002132 DF1

(1) 001672 002043 EM3 :ERROR 3 TRANSMITTER ERROR
(1) 001674 002067 DH1

(1) 001676 002116 pT1

(1) 001700 002132 DF1

(1) 001702 001746 EM4 ;ERROR & BIT ERROR (GENERAL)
(1) 001704 000000 0

(1) 001706 002126 DT4

f}; 001710 002132 DF1

(1) :DEFAULT DU ADDRESSES

(1) 001712 174300 RXCSR: 174300

(1) 001714 174301 HRXCSR: 174301

(1) 001716 174302 RXDBUF : 174302

(1) 001720 174303 HRXDBUF : 174303

(1) 001722 174302 PARCSR: 174302

(1) 001724 174303 HPARCSR: 174303

(1) 001726 174304 TXCSR: 174304

(1) 001730 174305 HTXCSR: 174305

(1) 001732 174306 TXDBUF : 174306

(1) 00173& 174307 HTXDBUF : 1743

(1) :DEFAULT DU VECTORS

(1) 001736 000330 DURIV: 330 ;REC INTR VECTOR

(1) 001740 000332 DURIS: 32 SREC INTR STATUS

(1) 001742 000334 DUTIV: 34 SXMIT INTR VECTOR

(1) 001744 000336 DUTIS: 36 SXMIT INTR STATUS

(1 ;:ERROR MESSAGES

(1) 001746 020040 051105 047522 EM4: "ASCIZ / ERROR PC /

(1) 001754 020122 041520 000049

(1) 001762 020040 047503 050115 EMI1: LASCIZ / COMPARISON ERROR ON REGISTERS/

(1) 001770 051101 051511 047117

(1) 001776 ol.;u.o 051122 051117

(1) 002004 047440 020116 042522
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(1) 00 018 044507 052123 051105

(1) 002020 000123

(1) 0020 s ggoao o«zssg oassos EM2: LASCIZ / RECEIVER ERROR/

(1) 0020 111 051105 042440

(1) 0020 g 51122 051117 0 g

(1) 00204 gko 05204g 040522 EM3: LASCIZ / TRANSMITTER ERROR/

(1) 002050 051516 044515 052124

(1) 002056 051105 042440 051122

(1) 002064 051117 000

(1) ;:DATA HEADERS FOR ERROR MESSAGES

(1) 002067 105 05112; 041520 DH1: JASCIZ /ERRPC WANTED ACTUAL/

(1) 002074 020040 040527 052116

(1) 002102 042105 020040 041501

(1) 002110 052524 046101 000

(1) 002116 .EVEN

(1) :DATA TABLES FOR ERROR MESSAGES

(1) 002116 001416 001130 001132 DT1: .WORD  SERRPC,HLDO,HLD1,0

:}g 002124 000000

ﬁ}; 002126 001416 000000 DT4: .MORD  SERRPC,0

(1 ooz1g2, 000 000 000 DF1: .BYTE 0,0,0,0

(1) 002135 000

(N .EVEN

(1) 002136 JSACTI

:g; .SBTTL ACT11 HOOKS

(2) 002136 STARS

(3) 001 IF 8

(3) t.Qtttttt'ttttitttttttttttt"tt'tttttQ!t't'tttt.ttttt"t'.ttt't

(3) “iFF

(3) .NLIST

(3) REPT

(3) LIST

(3) itt.!t'tltttttitttttt'itttttttttttttlttiltttttt'!'lttt!'tttittl

(3) CNLIST

(%) .ENDR

(3) LIST

(3) 000 -ENDC

(2) ;HOOKS REQUIRED BY ACT11

(2) 002136 $SVP(C=. :SAVE PC

553 000323 - B 46

ig; 000046 012714 . $ENDAD ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .$EOP

(2) =46

(2) ::1)SET LOC.46 TO ADDRESS OF

(2) 000 JENDC

55; ooogg} o & =52 |

:5; 000052 (000000 =5 WORD O ::2)SET LOC.52 TO ZERO

(2) =52

gz; - - -WORD ::2)SET LOC.52 TO

tf» ooz1go .=$SVPC :: RESTORE PC
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025 CNDUUA . M11 -0CT ACT11 HOOKS SEQ 0038
(1) 002136 .SAPTHDR 10,10
gz; .SBTTL APT PARAMETER BLOCK
(i) 002136 STARS
(3) 001 JF B
(%) :itt"tt'tttQ't"'t'it'tt'tttti'ttt'tttitt'tt.ttt'tt'tt.."lit"t
(3) 1FF
(3) .NLIST
(3) -REPT
(3) LIST
(3) :;tttttt.ttititttttt"t't'i'titittltttltttittttttttttttttittttttt
(3) NLIST
(3) -ENDR
(%) LIST
(3) 000 .ENDC
(2) :SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
(2) 002136 STARS
(3) 001 JF B
(%) A R R et
(3) IFF
(3) NLIST
(3) .REPT
(3) LIST
(3) R L R e L AR R ity
(3) NLIST
(3) .ENDR
(3) LLIST
(3) 00 .ENDC
(2) 002136 .$X=.  ::SAVE CURRENT LOCATION
(2) 000024 =24 ::SET POWER FAIL TO POINT TO START OF PROGRAM
(2) 000024 000200 200 - ::FOR APT START UP
(2) 000044 .=44  ::POINT TO APT INDIRECT ADDRESS PNTR.
(2) 000044 002136 $APTHDR ::POINT TO APT HEADER BLOCK
(2) 002136 .=.8X ::RESET LOCATION COUNTER
(2) 002136 STARS
(3) 001 JF B
(3) ::tt.'tt.t.t.tt"t"'itt'tttt'tti'ttttttittltttttttt!.ittt"t.tt'
(3) IFF
(3) NLIST
(3) .REPT
(3) LIST
(3) ::tttltttttttttt'.t'l'ttt't!tttt!!0.ttt.tl!tt'tt."tttttttttt'!"
(3) CNLIST
(3) .ENDR
(3) LIST
(3) 000 JENDC
(2) :SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=PDP11 DIAGNOSTIC
:2; s INTERFACE SPEC.
(5) 002136 $SAPTHD:
(2) 002136 000000 $HIBTS: .WORD O ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
(2) 002140 001526 $SMBADR: .WORD SMAIL  ::ADDRESS OF APT MAILBOX (BITS 0=15)
(2) 002142 000010 $TSTM: .WORD 10 ::RUN TIM OF LONGEST TEST
(2) 002144 000010 $PASTM: .WORD 10 SSRUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
(2) 002146 000000 $UNITM: .WORD :-AooitloNAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
(2) 002150 000052 "WORD SETEND=-SMAIL/2 ;;LENGTH MAILBOX~-E TABLE (WORDS)
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(1) 002152 SETUP . $SCOPE, .SERROR, .$TRAP, . SPOWER>

SEQ 0039

(2) 000000 $SETUP
2 ; 000000 $STUP=
(3) 000001 $SETUP= $SETUP!1 ::B81T00
(3) 177777 $STUP= =1
(3)
(3)
(3)
(3)
(3)
(3)
(3)
(3) 000000 $STUP= 0
3
(3) 000003 $SETUP= $SETUP!'2 ::81701
(3) 177777 $STUP= -1
(3)
(3)
(3)
(3)
(3)
(3)
(3) 000000 $STUP= 0
(3)
g
(3) 000007 $SETUP= $SETUP!4 ::81702
(3) 177777 $STUP= =1
(3)
(3)
(3)
(3
(3)
(3) 000000 $STUP= 0
(3)
(3)
B
(3) 000017 $SETUP= $SETUP!10 ::B1T03
(3) 177777 $STUP= =1
(3)
(3)
(3)
(3)
(1)
:}; 002152 $START
- (2) ;PROGRAM INITIALIZATION
(2) :LOCK GUT INTERRUPTS
(2) :SET UP PROCESSOR STACK
(2) ;SET UP POWER FAIL VECTOR
(2) iCL E AR _PROGRAM COMTYROL FLAGS AND COUNTS
:%; :TYPE TITLE MESSAGE
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CNDUUA . M11 -0CT PARAMETER BLOCK SEQ 0040
(2) 002152 .START:
(3 JSBTTL INITIALIZE THE COMMON TAGS
(3 001 .IF DF SCMTAG
(3) :3CLEAR THE COMMON TAGS (SCMTAG) AREA
(3 152 o1§706 001400 MOV #SCMTAG,R6 ::FIRST LOCATION TO BE CLEARED
(3) 002156 005026 CLR (R6) + ::CLEAR MEMORY LOCATION
(3) 002160 082706 001440 CMP #SUR,R6 ::DONE?
(3) 0021664 001374 BNE =6 ::LOOP BACK IF NO
(%) 000 .ENDC
(%) 001 .IF NB #STACK
23; 002166 012706 001100 e MOV #NSTACK,SP ;:SETUP THE STACK POINTER
(?) MOV #STACK,SP ::SETUP THE STACK POINTER
(3 000 .ENDC
(3) "11F NDF $SETUP,SSETUP= 0
(3) ;:INITIALIZE A FEW VECTORS
(3) 001 .IF NE $SETUPE1 ;:BITO0
(3) 002172 012737 016340 000020 MOV #$SCOPE ,a#10TVEC ::10T VECTOR FOR SCOPE ROUTINE
(3) 002200 012737 000300 000022 MOV #PR6,a#IOTVEC+2 ;:LEVEL 6
(3) .11F NDF $CMTAG, CLRB  $TSTNM ;:INITIALIZE THE TEST NUMBER
(3) 000 .ENDC
(3) 001 JIF NE $SETUPR2 ;:BITO1
(3) 002206 012737 014230 000030 MOV #$ERROR, #EMTVEC ;:EMT VECTOR FOR ERROR ROUTINE
(3) 002214 012737 000300 000032 MOV #PRO,INEMTVEC+2 ;:LEVEL 6
(3) 000 .ENDC
ggg 001 .1gx¥5zsseru9z4
(3) 002222 012737 016674 000034 MOV #STRAP,3#TRAPVEC ;:TRAP VECTOR FOR TRAP CALLS
gg; 002230 012535 000300 000036 - MOV #PR6,I#TRAPVEC+2; LEVEL 6
(3) 001 JIF NE SSETUPR10 ::B1T03
(3) 002236 012737 015032 000024 MOV #SPWRDN,3#PWRVEC ;:POWER FAILURE VECTOR
(3) 002244 012737 000300 000026 MOV #PR6,#PWRVEC+2 ;:LEVEL 6
(3) 000 LENDC
(%) 001 JIF NE $SETUPE20 ::BI1T04
(3) J11F NDF SCMTAG, CLR $PASS ::CLEAR THE PASS COUNT
(3) MOV SENDCT,$EOPCT  ;:SETUP END=OF-PROGRAM COUNTER
(3) 000 JENDC
(3) 001 “IF NE S$SETUPR4O ;:BITOS
(3) MOV #176543 . $HINUM ;:PRIME THE RANDOM NUMBER GENERATOR
(3) MOV #123456.SLONUK ::BOTH HIGH AND LOW WORDS
(3 000 ENDC
(3) 001 “IF NE S$SETUPR1 ;:BITO0
(3) 002 .1F NE $SWRE4000
(3 "11F NDF SCMTAG, MOV #1,$1CNT ;s INITIALIZE THE ITERATION COUNTER
(3) 002252 005067 177234 CLR $TIMES :: INITIALIZE NUMBER OF ITERATIONS
(3) 001 .ENDC
(3) 00 "ENDC
(3) 01 “IF NE S$SETUPR2 ;:BITO1
(3) .JI1F NDF $SCMTAG, CLRB S$ERFLG ::CLEAR THE ERROR FLAG
(3) 002 JIF NE 10008$SWR
(3) “11F NDF SCMTAG, CLR SERTTL ::CLEAR THE ERROR COUNT
(3) 002256 005067 177232 CLR $ESCAPE ::CLEAR THE ESCAPE ON ERROR ADDRESS
(3) 002262 112767 000001 177125 MOVB  #1,SERMAX S:ALLOW ONE ERROR PER TEST
(3 001 JENDC
(3) 000 "ENDC
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(3) 001 JIF NE sssruvtzo ::81104
(3) 002 IF NE 100008$SWR
(3) MACRO $SSETUP 7N1,7N2, ,
(3) ;s INITIALIZE THE “'T=-BIT” t AP VECTOR. THEN LOAD LOCATION ‘‘SRTRN'', IN
(3) ::THE “END-OF-PASS'* (SEOP) ROUTINE, WITH A "RTI' OR "RTT",
(g) MOV 3R au.ac1 1tve§ ..SEt “I'* BIT VECTOR TO $RTRN
(3) MOV #PR6 actex VEC+2 ;:LEVEL 6
(3) MOV #RTI,SRTIRN ser $SRTRN TO A RTI
(3) MOV #N2, 3#RESVEC ..rnv TO DO A RTT
(3) CLR =(SP)  ;DUMMY PS
(%) MOV #N1,=(SP) :AND PC
(g) RTT *TRY THE RTT
53; ggv 0§1T LSRTRN ..nrr IS LEGAL==SET SRTRN TO A RTT
(3) N%: ADD #10,5P :RTT ILLEGAL==CLEAN OFF THE STACK
(3) N3: MOV cnssvec+z axassvéc ;RESTORE TRAP CATCHER
(3) CLR $TBIT CLEAR T BIT SWITCH
(%) LENDM  $SSETUP
(3) $$SETUP
(3) 001 JENDC
(3) 000 JENDC
(3) 001 .IF NE SSETUPR1
(3) 002270 012767 002270 177110 MOV #.,SLPADR JINIT A 1ZE THE LOOP ADDRESS FOR SCOPE
(3) 002276 012767 002276 177104 MOV #..SLPERR se THE ERROR LOOP ADDRESS
(3 000 .ENDC
(3) 002304 SWRSU
(&) ;3SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
(4) SSEQUAL TO A **=1'", SETUP FOR A SOFTWARE SWITCH REGISTER.
(4) 002306 013746 000004 MOV a:sanvec -(SP) ;:SAVE ERROR VECTOR
(4) 002310 012737 002344 000004 MOV #648,3#ERRVEC  ::SET UP ERROR VECTOR
(4) 002316 012767 177570 177114 MOV #DSWR, SWR S:SETUP FOR A HARDWARE SWICH REGISTER
(4) 002324 012767 177570 177110 MOV #ODISP.DISPLAY ::AND A HARDWARE DISPLAY REGISTER
(4) 002332 022777 177777 177100 CMP #-1,35WR $:TRY TO REFERENCE HARDWARE SWR
(4) 002340 001012 BNE 66$ $:BRANCH IF NO TIMEOUT TRAP OCCURRED
(4) :IAND THE WARDWARE SWR 1S NOT = -1
(4) 002342 000403 BR 65% :BRANCH [F NO TIMEOUT
(4) 002346 012716 002352 648: MOV #65%, (SP) $3SET UP FOR TRAP RETURN
(4) 002350 ooooo; RT]
(4) 002352 012767 000176 177060 65%: MOV #SWREG, SWR ;:POINT TO SOF TWARE SWR
(4) 002360 012767 000174 177054 MOV #DISPREG,DISPLAY
ggg 002366 012637 000004 66$: MOV (SP)+,a¥ERRVEC ;;RESTORE ERROR VECTOR
(3) 001 JIF DF SMAIL
(3) -MACRO sssernAlL 7$ARG1
(3) $PASS ::CLEAR PASS COUNT
(3) BITB #APTSIZE,SENVM ::TEST USER SIZE UNDER APT
(3) BEOQ $ARG1 SIYES,USE NON=APT SWITCH
(3) MOV #$SWREG, SWR SINO,USE APT SWITCH REGISTER
(3) $ARG! :
(3) LENDM  $SSETMAIL
(3) 002372 $SSETMAIL
(4) 002372 005067 177136 CLR $PASS ;:CLEAR PASS COUNT
(4) 002376 132767 000200 177143 BITB  #APTSIZE,SENVM ;:TEST USER SIZE UNDER APT
(4) 002404 001403 BEQ 67% . SIYES,USE NON=APT SWITCH
52; 8852?2 012767 001550 177024 . MOV #$SWREG, SWi PiNO,USE APT SWITCH REGISTER
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(3) 00 JENDC

(2) 80 414 012 09 001100 oV #STACK,SP ;SET STACK

(2) 002420 10 ai 0003 MIPS  #300 *LOCK INTERRUPT

(2) 002424 012737 015032 000024 MOV #.PFAIL,3N24 ‘SET UP POWER FAIL VECTOR
(2) 002432 105067 17653 CLRB  STFLG :CLEAR START FLAG

(2) 002436 005067 176450 CLR PASCNT ‘CLEAR PASS COUNT

(2) 002442 105067 176735 CLRB  SERFLG :CLEAR ERROR FLAG

(2) 002446 005067 176740 CLR SERTTL ‘CLEAR ERROR COUNT

(2) 002452 005067 176740 CLR $ERRP( :CLEAR LAST ERROR POINTER
(2) 002456 015767 000001 176716 MOV #1,8TSTNM :SET UP FOR TEST 1

(2) 002464 012767 002152 176412 MOV #.START,RETURN *SET UP FOR POWER FAiL BEFORE
(3) :TESTING STARTS

(2) 002472 013746 000006 MOV aneG,=(SP)

(2) 002476 013746 000004 MOV ang,=(SP)

(2) 002502 012737 002516 000004 MOV nS.an

(2) 002510 005777 176724 ST asSwWR

(2) 002514 000407 BR 2%

(2) 002516 012767 000176 176714 18: MOV #SWREG, SWR

(2) oozsga 012767 000174 176710 MOV #DISPREG,DISPLAY

(2) 002532 022656 CMP (SP)+,(SP)+

(2) 00253¢ 012637 000004 28: MOV (SP)+.akk

(2) 002540 012637 000006 MOV (SP)+.aWé

(2) 002544 022767 000176 176666 CMP #SWREG, SWR

(2) 002552 001007 BNE 33

(2) 002554 005737 000042 TST ~Y I :CHECK FOR CHAIN

(2) 002560 001402 BEO 338

(2) 002562 000167 000522 JMP .BEGIN

(2) 002566 004767 010224 33¢:  JSR PC,CNTLU

(2) 002572 105767 176374 3%: TSTB  INIFLG :HAS INITIALIZATION BEEN PERFORMED
(2) 002576 001004 BNE ONCE

(2) 002600 104401 015172 TYPE JMTITLE ;TYPE TITLE MESSAGE

(2) 002604 105167 176362 comB INIFLG :IF NOT SET FLAG AND DO
(1) 002610 $CLRVEC .BEGIN

(2) 002610 105767 176732 ONCE: TSTB SENV ;APT CONTROL?

(2) 002614 001410 BEQ 1% :BR IF NO

(2) 002616 032767 000001 176726 BIT #1,8USWR *EXTENAL JUMPER ON?

(2) 002624 001002 BNE 12¢ *NO

(2) 002626 105067 176321 CLRB  JMRBY SCLEAR FLAG

(2) 002632 000167 000452 128: WP .BEGIN :G0 DO IT

(2) 002636 032777 000001 176574 11% BIT #5400, aSWR TRESELECT VECTOR & CONTROL REG?
(2) 002644 001002 BNE 1%

(2) 002646 000167 000436 JMP .BEGIN

(2) 002652 012700 000300 1%: MOV #300,R0 :RESTORE VECTOR AREA TO TRAPCATCHER

(2) 002656 015701 000302 MOV #302°R1 :START AT LOCATION 300

(2) 002662 012702 000004 MOV ¥4 ,R2

(2) 002666 010110 2%: MOV R1.(RO)

(2) 002670 005011 CLR (r1)

(2) 002672 060200 ADD R2,RO

(2) 002674 060201 ADD R2.R1

(2) 002676 022701 001000 CMP #1000, R1 ;END AT LOCATION 776

(2) 002702 002771 BLT 28

(1) 002704 $GETPAR MREGAD,DUBASE,1,1,174000,177776

(2) 002704 104406 INSTR ~ ;OUTPUT MESSAGE € GET INPUT STRING

(2) 002706 015240 MREGAD ;MESSAGE

(2) 00271 104410 PARAM sCONVERT STRING

(2) 002712 174000 174000 :LOW LIMIT
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(2) oog714 177776 177776  :HIGH LIMIT
(2) 002716 017170 DUBASE srone A1 THIS LOCATION
(2) 002720 001 BYTE 1 MASK
(2) 002721 001 BYTE 1 HOW MANY TIMES + 2
(1) 002722 016767 014242 176226 MOV DUBASE, KEEPADD :SAVE
(1) 002730 004767 014102 JSR PC DUAD
(1) 0057 & 016767 176216 176212 MOV KEEP aussnoo :RESTORE FOR ROTATION
(1) 00 75% $GETPAR nvecto ouaxv 4 1
(2) 00274 10440g INS uTPuf nessuce g GET INPUT STRING
(2) 002744 01522 nvscxo ess GE
(2) 002746 104410 PARAM convear STRING
(5) oogrsg ooogoo 00 SLOW LIMIT
(2) 002752 000376 76 SHIGH LIMIT
(5) 002754 001736 DURIV sroae AT THIS LOCATION
(2) 002756 001 BYTE 1 tMASK
(2) 002757 004 ‘BYTE & ‘HOW MANY TIMES + 2
(1) 002760 016767 176752 176176 MOV DURIV,.KEEPIV  :SAVE
(1) 002766 016767 176744 176166 MOV DURIV.BASEIV  :SET UP FOR ROTATION
(1) 002774 $GETFLG MMULT ,MULTD
(2) 002774 104406 INSTR’  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 002776 015270 MMULT  :MESSAGE
(2) 003000 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003002 001152 MULTD  :THIS FLAG
(1) 00300& 105767 176142 TSTB  MULTD  :ARE THERE MULTIPLE DEVICES
1 ON THE SYSTEM ?
(1) 003010 100406 BMI BBB SYES,ASK NEXT QUESTION
(1) 003012 005067 176150 CLR ACTREG
(1) 003016 005067 176146 CLR ROTADD
(1) 003022 000167 000140 JMP OUTMUL :;JUMP AROUND NEXT QUESTION
(1) 003026 BBB:
(2) 003026 104406 INSTR ~ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003030 015317 MLASTD :MESSAGE
(2) 003032 104410 PARAM convenr STRING
(2) 00303& 174000 174000 :LOW LIMIT
(2) 003036 177776 177776 :HIGH LIMIT
(2) 003040 001160 LASTADD :STORE AT THIS LOCATION
(2) 003042 001 BYTE 1 T MASK
(2) 003043 001 BYTE 1 *HOW MANY TIMES ¢ 2
M THE FOLLOWING ROUTINE SETS UP ACTREG roa THE FIRST TIME
(1) 003044 012767 000001 176116 18: MOV #1,ROTADD :SET UP POINTER
(1) 003052 005067 176110 CLR ACTREG ;CLR ACTIVE ne GISTER
(1) 003056 056767 176106 176102 2%: BIS ROTADD ,ACTREG  :MAKE tnxs DEVICE ACTIVE
(1) 003064 000241 cLC
(1) 003066 006167 176076 ROL ROTADD ;SET UP POINTER
(1) 003072 103421 BCS 3 *ARE YOU OUT OF RANGE ?
(1) 003074 062767 000010 176052 ADD #10,BASEADD ;SET UP BASE ADDRESS
(1) 003102 026767 176052 176044 CMP LASTADD ,BASEADD :1S THlS THE LAST DEVICE ?
(1) 003110 101362 BHI 2% :NO 00 IT AGAIN
(1) 003112 056767 176052 176046 BIS ROTADD ,ACTREG  :;THIS ASSUMES THAT THERE ARE AT
(1) sLEAST TWO DEVICES WHEN YOU ANSWER YES T0
N HULIIPLE DEVICE QUESTION
(1) 003120 012767 000001 176042 4$: MOV OTADD ;SET UP FOR LATER USE IN END OF PASS ROUTINE
1 0031;6 016767 176024 176020 MOV xstpuoo BASEADD DITTO
(1) 003134 000414 aa 0U1HUL CONT INUE oussr:ons
(1) 003136 016767 176014 176010 3%: EEPADD, éASEAuo RESTORE
(1) 003144 scerpnn nannce CASTADD,1.1,174000,177776
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(2) 003144 104402 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003146 01541 MRANGE  ;MESSAGE

(2) 003150 194410 PARAM  :CONVERT STRING

(2) 003152 174000 174000 :LOW LIMIT

(2) 003154 177776 177776  :RIGH LIMIT

(2) 003156 001160 LASTADD :STORE AT THIS LOCATION

(2) 003140 001 BYTE 1 tMASK

(2) 003161 001 .BYTE 1 :HOW MANY TIMES + 2

(1) 003162 000187 177656 JMP is D0 IT AGAIN

(1) 003166 012767 000300 013636 OUTMUL: MOV #300,DUPRT

(1) 003174 004767 013562 JSR PC,DULEV

(1) 003200 $GETSYN MSYNC,SYNCNO,AAA:

(2) ;COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
(2) ;BUFFER TO THE CHARACTERS "‘1'* AND ''2'".

(2) sIF THE CHARACTER IS '"1'" CLEAR THE FLAG
(2) ;IF THE CHARACTER IS "'2'* SET THE FLAG

(2) 003200 AAA:

(2) 003200 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003202 015631 MSYNC  ;MESSAGE a

(2) 003204 122767 000061 012760 3$: CMPB  #°'1, INBUF JIS IT 1t 2

(2) 003212 001003 BNE 18

(2) 003214 105067 175726 CLRB  SYNCNO :000

(2) 003220 000412 E BR 43 e

(2) 003222 122767 000062 012742 1%: CMPB  #'2, INBUF JIS IT 2t 2

(2) 003230 001004 BNE 28

(2) 003232 112767 177777 175706 MOVB  #-1,SYNCNO :377

(2) 003240 000402 BR 4%

(2) 003242 104407 2s: INSTER :RETRY

(2) 003244 000757 BR §s

(2) 003246 000240 48: NOP

(1) 003250 $GETFLG MWIREG,SEXMIT

(2) 003250 104406 INSTR ~ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003252 015677 MWIRE6 :MESSAGE

(2) 003254 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003256 001147 SEXMIT :THIS FLAG

(1) 003260 $GETFLG MWIRES,SEREC

(2) 003260 104406 INSTR ~ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003262 015750 MWIRES ;MESSAGE

(2) 003264 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003266 001150 SEREC  :THIS FLAG

(1) 003270 $GETFLG MWIRE4,OPTCLR

(2) 003270 104406 INSTR ~ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003272 016020 MWIRE4 :MESSAGE

(2) 003274 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003276 001151 OPTCLR :THIS FLAG

(1) 003300 SGETFLG MEXTJ, JMRBY

(2) 003300 104406 INSTR"  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003302 016077 MEXTJ)  :MESSAGE

(2) 003304 104414 SETFLG ;SET FLAG BASED UPON INPUT STRING
(2) 003306 001153 JMRBY  :THIS FLAG

g;; 003310 $BEGIN

(%; ;TEST START AND RESTART

(

(2) 003310 012706 001100 .BEGIN: MOV #STACK,SP :SET UP STACK
(2) 003314 106427 000300 MTPS #300 JLOCK OUT INTERRUPTS
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(2) 003320 032777 000002 176112 BIT #SW01,aSWR :1F SWO1=1, GET STARTING PC
(2) 003326 001413 BEQ 5
(2) 003330 $GETPAR MTSTPC,$TSTNM,1,1,TST1,17500
(3) 003330 104403 INSTR * ;OUTPUT ‘MESSAGE & GET INPUT STRING
(3) 003332 01556 MTSTPC :MESSAGE
(3) 00333¢ 104410 PARAM  :CONVERT STRING
(3) 003336 003374 1ST1 :LOW LIMIT
(3) 003340 017500 17500  :HIGH LIMIT
(3) 0033¢2 001402 $TSTNM :STORE AT THIS LOCATION
(3) 003344 001 BYTE 1 :MASK
(3) 003345 001 BYTE 1 “HOW MANY TIMES ¢ 2
(2) 00 g«e 016767 176030 175530 MOV $TSTNM,RE TURN
(2) 003354 000403 B8R 13
(2) 003356 012767 003374 175520 3$: MOV #TST1,RETURN ;START AT TEST 1
(2) 003364 104401 015557 4%: TYPE MR JTYPE R

8%23 003370 000177 175510 JMP aRETURN ;START TESTING
8150 003374 $TRPAR SEVEN,10.,EVEPAR,I1SYMOD,125,1252

() S:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(N ::0F THE TRANSMITTER SECTION.
(1) 21T ALSO CHECKS DNA TIMING
(1) 2 :MODE : 1SYMOD
(1) S:LENGTH:SEVEN PLUS PARITY
1) ::PARITY:EVEPAR
:}; ::CHARACTER:125
(1) 003374 $TSTNO
(2) 003374 NEWTST
(3) 000000 $SNWTST=0
(3) 001 JAF B ©
(3) 003374 SSNEWTEST \$TN,<>,SCOPE
(&) . IRP ASCI, <>
(%) JIF EQ SNWTST
(&) .NLIST
(&) SNWTST=1
(4) LSBTTL ™M ASCI
(4) LIST
(&) STARS
(4) s*TEST 1 ASCI
(&) LJFF
(4) ASCI
(%) LENDC
(4) .ENDM
(4) 003374 STARS
(5) 002 JIF B
(S) :"t'ttt.t'tttt.'t""'.!t'!"ttttttt!tltlitttaittt.t.tt.tttttittt
(%) LIFF
(5) .NLIST
(5) .REPT
(5) LIST
(S) °.'.I't'.'!l'.!".'t"OQQ'.t't'.tt.!..Qttltt!ttl'.lttll'.l'tlittt.
(5) .NLIST
(5) .ENDR
(S) LIST
(5) 001 JENDC
(4) 003374 000004 1ST1:  SCOPE
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NITIALIZE THE COMMON TAGS

S}?:S!NOI
SSNEWTEST \$TN,O,O
LENDC
.IF NE 4000RSSWR
IF NB
JF LE <=1>
- MOV #1,8TIMES ::90 1 ITERATION
MOV #,8TIMES ;D0 ITERATIONS
LENDC
LENDC
.IF NB
MOV #,5LPADR ;sSET SCOPE LOOP ADDRESS
LENDC
LENDC
.1F NB
JIF DF SMAIL
.IRP TNM,<\$TN=1>
ENDM MOV #'TNM,STESTN :2SET TEST NUMBER IN APT MAIL BOX
LENDC
LENDC
.REPT 0
LNLIST
LRADIX 10
.IRP $DN, <\SN>
NEWTST
: MOV #SDON,STSTNM :SAVE THIS
.ENDM
NLIST
LRADIX 8
LIST
:.11F NB <>, MOV # ,RETURN ;SET UP THIS RETURN
:.}gFNgB <, MOV #, COUNT :SET UP THIS ICOUNT
™ <>
:"F MOV # NEXT :GO TO TH!S TiST WHEN THRU
NLIST
RADIX 10
LIST
.IRP so£‘<\ss>
.AF DF TST'SDE
2 MOV #TST'$DE . NEXT :G0 TO THIS TEST WHEN THRU
.ENDM
.NLIST
.RADIX
Wi
2 MOV #.EOP,NEXT :GO TO THIS TEST WHEN THRU
LENDC
.ENDC
:.xggrua <, MOV #,L0Ck :SET UP FOR SCOPE LOOP
.NL

SEQ 0046
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(2) LRADIX 10
2) $N=$N+1
(%) SE=SE+1
(2) LRADIX
(2) .LIST
(2) .ENDR
(1) 003376 TSETUP MINT,ISYMOD,SEVEN,EVEPAR,26
(i) 003376 SRESET
(3) 003376 052777 000400 176322 BIS #MRESET,3TXCSR ;MASTER RESET
(2) 003404 012777 000000 176310 MOV #1SYMOD.aPARCSR :SET THE MODE
(g) 003412 SRESET
22; 003412 052777 000400 176306 BIS #MRESET,3TXCSR ;MASTER RESET
(2) ;SET MAINTENANCE MODE & SEND
(2) SNOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
:%; 003420 012777 004020 176300 MOV #MINT!SEND,@TXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,.& LOAD SYNC REG
(2) oosage 012777 005426 176266 MOV #1SYMOD'SEVEN'EVEPAR'26,aPARCSR
(1) 003434 016703 176266 ChYY TXCSR,R3 :SET UP FOR ERROR MSG
(1) 003440 112777 000125 176264 MOVB  #125,3TXDBUF :LOAD DATA CHAR
(1) 003446 012767 001252 176024 MOV #1252,$TMP1 STO BE SHIFTED CHAR
(1) 003454 012767 000012 175440 v #10,,SHIFT ‘# OF SHIFTS
(1) :POKE CLK TO GET INTO SYNCRONIZATION
(1) 003462 $POKE
(2) 003462 052777 020000 176236 BIS #CLK,RTXCSR ;POKE CLK UP
(2) 003470 042777 020000 176230 BIC #CLK,TXCSR :POKE CLK DOWN
(1) 003476 005000 1%: CLR RO
(1) 003500 006067 175774 ROR $TMP1  ;FORCE CARRY
(1) 003504 103002 BCC 2% ‘BR IF CARRY CLR
:}; 8833?3 052700 002000 - BIS #BITW.RO ;EQUIV OF BITW
(2) 003512 052777 020000 176206 BIS #CLK,TXCSR ;POKE CLK UP
(2) 003520 042777 020000 176200 BIC #CLK,TXCSR :POKE CLK DOWN
(1) 0035%6 017701 176174 MOV aTXCSR, R *ACTUAL
(1) 003532 042701 075777 BIC 2075777 .R1 :SAVE BITW & DNA
(1) 003536 020001 CMP RO,R1 ';COMPARE EXP VS ACT
(1) 003540 001401 BEQ . +4
(1) 003542 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1 :BIT,...ALSO CHECK DNA
(1) 003544 005367 175352 DEC SHIFT  :# OF SHIFTS
(1) 003550 001352 BNE 1s ‘D0 IT AGAIN ?
(1) :NOW POKE CLK TO SEE DA
(1) 003552 052777 020000 176146 BIS #OLK,GTXCSR :POKE CLK
“; 001 {;' IDN <]SYMOD>,<ISYMOD>
:}; 003560 012700 000000 - MOV #O,RO  ;EXPECTED
(1) MOV #100000, R0 ;EXPECTED
(1) 000 JENDC
(1) 003564 017701 176136 MOV ATXCSR,R1 :ACTUAL
(1) 003570 042701 077777 BIC #77777.R1 *SAVE DNA ONLY
(1) 003574 020001 CMP RO,R1 :COMPARE EXP VS ACT
(1) 003576 001401 BEQ ¢,
(1) 003600 104003 ERROR 3 :DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
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m ;CHECK WORD LENGTH SELECT LOGIC
8151 003602 $TRPAR SEVEN,10.,0DDPAR, ISYMOD,125,1652
(1 ;:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1 ;;0F THE TRANSMITTER SECTION.
(N ;317 ALSO CHECKS DNA TIMING
(1) : :MODE : I SYMOD
(1) ssLENGTH:SEVEN PLUS PARITY
(1) 1 SPARITY:0DDPAR
g}; :;CHARACTER:125
(1) 00360 $TSTNO
cg) 00360 NEWIST
(3) 00000 SNWTST=0
(%) 001 JAF B ©
(3) 003602 SSNEWTEST \$TN,<>,SCOPE
(4) JRP  ASCI,<
(4) JIF EQ SNWTST
(4) NLIST
(4) $NWTST=1
(4) LSBITL T2 ASCI
(4) LLIST
(4) STARS
(4) s*TEST 2 ASCI
(4) LIFF
(4) ASCI
(4) LENDC
(4) .ENDM
(4) 003602 STARS
(5) 002 JIF B
(S) .'tiittttttttt'ttt'tt"ttt"'tttt!tt'tttttttttttttt.t!tl'ttttt!t.
(5) JIFF
(5) .NLIST
(5) -REPT
(5) LIST
(S) AR A A R R R R g
(5) CNLIST
(5) .ENDR
(S) LIST
(5) 001 -ENDC
{2; 003602 000004 1ST2:  SCOPE
(4) 000003 $TN=STN+1
(3) IFF
(3) SSNEWTEST \$TN, <>, <>
(3) 000 JENDC
(3) 001 JF ne 4OU0RSSWR
:i; 88% '}; LE <=1;
ch o MOV #1,$TIMES ::D0 1 ITERATION
(5) x
(3) MOV #.8TIMES ::D0 ITERATIONS
(%) 002 LENDC
(3 002 e
(3) MOV # . $LPADR ::SCT SCOPE LOOP ADDRESS
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(3) 001 LENDC
(3) 000 LENDC
(%) 001 .IF NB
(3) 002 .IF DF SMAIL
(3) . IRP TNM,<\$TN=1>
(3) MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
(3) .ENDM
(3) 001 LENDC
(3) 000 .ENDC
(2) 000000 .REPT 0
(2) «NLIST
(2) RADIX 10
(2) LLIST
(2) IRP $DN, <\$N>
(2) NEH ST
(2) MOV #SDN,STSTNM ;sSAVE THIS
(2) .ENDH
(2) NLIST
(2) .RADIX 8
(2) .Llsr
(2) .J1F NB <>, MOV # ,RETURN ;SET UP THIS RETURN
g%; ,.{} Nga <>, MOV #,1COUNT :SET UP THIS ICOUNT
(2) 3 HOV # NEXT ;GO TO THIS TEST WHEN THRU
(2) JAFF
(2) «NLIST
(2) LRADIX 10
(2) LLIST
(2) .IRP SDE‘<\5E>
(2) .IF DF TST'SDE
(2) : MOV #TST'SDE NEXT :GO TO THIS TEST WHEN THRU
(2) .ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) .JFF
(2) : MOV # .EOP,NEXT :GO TO THIS TEST WHEN THRU
(2) .ENDC
(2) .ENDC
(2) :.11F NB <, MOV #,L0C% ;SET UP FOR SCOPE LOOP
(2) «NLIST
(2) RADIX 10
(2) SN=$N+1
(2) SE=SE+1
(2) .RADIX 8
(2) LIST
(2) .ENDR
(1) 003604 TSETUP MINT,ISYMOD,SEVEN,ODDPAR,26
(%) 003604 SRESET
(3) 003604 052777 000400 176114 BIS #MRESET ,@TXCSR ;MASTER RESET
52; 88%2}2 012777 000000 176102 SRESET MOV #1SYMOD ,aPARCSR ;SET THE MODE
igg 003620 052777 000400 176100 BIS #MRESET ,@TXCSR ;MASTER RESET
(5) sSET MAINTENANCE MODE & SEND
(2) :NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)

SEQ 0049
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égg 003626 012777 004020 176072 MOV #MINT!SEND,@TXCSR
(2) ;SET nooe.x OF BITS,PARITY SENSE,& LOAD SYNC REG
(2) 00363& 012777 005026 176060 MOV #1SYMGD ! SEVEN'ODDPAR ' 26, 3PARCSR
(1) 003642 016703 176060 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 003646 112777 000125 176056 MOVB  #125,3TXDBUF  :LOAD DATA CHAR
(1) 003654 012767 001655 175616 MOV #1652, $TMP1 :TO BE SHIFTED CHAR
(1) 003662 012767 000012 175232 MOV #10,,SHIFT ‘H OF SHIFTS
(1) POKE CLK TO GET INTO svucnoulzn?xau
(1) 003670 $POKE
(2) 003670 052777 020000 176030 BIS #CLK,DTXCSR ;POKE CLK UP
(2) 003676 042777 020000 176022 BIC #CLK.BTXCSR :POKE CLK DOWN
(1) 003704 005900 1%: CLR RO
(1) 003706 006067 175566 ROR $TMP1  :FORCE CARRY
(1) 003712 103002 BCC 2% :BR IF CARRY CLR
:}; 883;}3 052700 002000 - BIS ¥BITW.RO ;EQUIV OF BITW
(2) 003720 052777 020000 176000 BIS #CLK,ATXCSR :POKE (LK UP
(2) 003726 042777 020000 175772 BIC #CLK ATXCSR -poxe CLK DOWN
(1) 003736 017701 175766 MOV TXCSR,R1 sACTUAL
(1) 003740 042701 075777 BIC #075777.R1 :SAVE BITW & DNA
(1) 003744 020001 CMP RO,R1 ;COMPARE EXP VS ACT
(1) 003746 001401 BEQ +4
(1) 003750 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1) :BIT,...ALSO CHECK DNA
(1) 003752 005367 175144 DEC SHIFT  :# OF SHIFT
(1) 003756 001352 BNE 1s :D0 IT AGAI
(1) ;NOW POKE CLK TO SEE DNA
(1) 003760 052777 020000 175740 BIS #CLK,ATXCSR :POKE (LK
g}; 001 '}:r IDN <ISYMOD>,<ISYMOD>
g}; 003766 012700 000000 - MOV #0,RO  ;EXPECTED
(1) MOV #100000,R0 ;EXPECTED
(1) 000 LENDC
(1) 003772 017701 175730 MOV ATXCSR, R ;ACTUAL
(1) 003776 042701 077777 BIC #77777.R1 :SAVE DNA ONLY
(1) 004002 020001 CMP RO,R1 :COMPARE EXP VS ACT
(1) 004004 001401 BEQ +4
(1) 004006 104003 ERROR 3 sDNA SHOULD BE SET
(1) :1F DNA DID NOT SET
2}; :CHECK WORD LENGTH SELECT LOGIC
8152 004010 $TRPAR EIGHT,9.,EVEPAR,SYNINT,125,125
(1) ;:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) ::0F THE TRANSMITTER SECTION.
(1) ::1T ALSO CHECKS DNA TIMING
(1) ..HODE SYNINT
(1) .LENGIH EIGHT PLUS PARITY
(1) ITY:EVEPAR
{;; ..CHARACTER 125
(1) 004010 $TSTNO
(§) 004010 NEWTST
(3) 000000 SNWTS1=0
(3) 001 JF B ©
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(3) 004010 $SNEWTEST \$TN,<>,SCOPE
(4) .IRP ASCI,<>
(%) JIF EQ SNuTSt
(4) LNLIST
(&) SNWTST=1
(4) LSBTTL 713 ASCI
(4) LIST
(4) STARS
(4) s*TEST 3 ASCI
(4) <JFF
(4) ASCI
(&) LENDC
(4) .ENDM
(4) 004010 STARS
(S) 002 UF B
(S) ;iti.tttttt't""ttt"t"tt'"it"'!tl!t!t""ttt.tttittttt.tttit
(S) <JFF
(S) «NLIST
(5) REPT
(5) LIST
(S) ::Qt.ttttttt'ti't'tttt't'tt'tttttltiittltiiittttiittttt'tttittt.'
(S) .NLIST
(5) .ENDR
(5) LIST
(5) 001 .ENDC
iz; 004010 000004 TST3: SCOPE
%) 000004 $TN=STN+1
(3) +IFF
(3) $SNEWTEST \$TN, <>,
(3 000 +ENDC
(3) 001 JF NE 40008$SWR
(3) 002 .IF NB
(3) 003 JF LE <=1>
s%g e MOV #1,8TIMES ::D0 1 ITERATION
(3) MOV #,8TIMES ;D0 ITERATIONS
(3) 002 LENDC
(3) 001 LENDC
(3) 002 .IF NB
(3) MOV #,SLPADR :sSET SCOPE LOOP ADDRESS
(3) 001 LENDC
(3) 000 +ENDC
(3) 001 .IF NB
(3) 002 .IF DF SMAIL
(3) JIRP TNM,<\$TN-1> _
(3) MOV #°'TNM,STESTN ssSET TEST NUMBER IN APT MAIL BOX
(3) .ENDM
(3 001 LENDC
(3) 000 ENDC
(2) 000000 .REPT 0
(2) .NLIST
(2) LRADIX 10
(2) LLIST
(2) . IRP $DN, <\$N>
(2) NEWTST
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(2) : MOV #SON,STSTNM ;SAVE THIS

(2) .ENDM

(2) NLIST

(2) .RADIX 8

(2) LIST

(2) s 11F N8 <, MOV # ,RETURN :SET UP THIS RETURN
223 "}$'~3°<> o, MOV #.1COUNT SSET UP THIS ICOUNT
§ ; - MOV #NEXT ;GO TO THIS TEST WHEN THRU
(2) .NLIST

(2) LRADIX 10

(2) LIST

(2) JIRP _ S$DE <\$E>

(2) "IF DF TST'SDE

(%) MOV #TST SDE  NEXT ;G0 TO THIS TEST WHEN THRU
(2) .ENDM

(2) INLIST

(2) .RADIX 8

(2) LIST

(2) IFF

(2) ; MOV #.EOP,NEXT :G0 TO THIS TEST WHEN THRU
(2) "ENDC

(2) "ENDC

(2) :.11F NB <, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(2) "NLIST

(2) "RADIX 10

(2) $N=SN+1

(2) $E=SE+1

(2) .RADIX 8

(2) LIST

(2) "ENDR

(1) 004012 TSETUP MINT,SYNINT,EIGHT,EVEPAR,26

¢§> 004012 SRESET

(3) 006012 052777 000400 175706 BIS #MRESET,3TXCSR  :MASTER RESET

(2) 004020 12777 030000 175674 MOV #SYNINT.@PARCSR :SET THE MODE

(§> 004026 SRESET

:2; 004026 052777 000400 175672 BIS #MRESET,@TXCSR  ;MASTER RESET

(2) ;SET MAINTENANCE MODE & SEND

(2) ) NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
233 004034 012777 004020 175664 MoV #MINT ! SEND,3TXCSR

(2) ;SET MODE,.# OF ants PAthv SENSE,& LOAD SYNC REG

(2) 004042 012777 037426 175652 MOV #SYNINT'EIGHT 'EVEPAR' 26,3PARCSR

(1) 004050 016703 175652 MOV TXCSR,R3 ;SET UP FOR ERROR MSG
(1) 004054 112777 000155 175650 MOVB  #125,3TXDBUF .LOAD DATA CHAR

(1) 004062 012767 000125 175410 MOV ¢1 5.8TH 1 $10 BE SHIFTED CHAR
(1) 004070 012767 000011 175024 MOV $HI ‘# OF SHIFTS

(1) :POKE CLK TO GET xnfo svucRONIZAtxou

(1) 004076 $POKE

(2) 004076 052777 020000 175622 BIS #CLK,RTXCSR :POKE CLK UP

(2) 004106 042777 020000 175614 BIC #CLK.BTXCSR ‘POKE CLK DOWN

(1) 004112 00500 18: CLR R0

(1) 004114 006067 175360 ROR $TMP1  ;FORCE CARRY

(1) 004120 103002 BC( 2% ‘BR If CARRY CLR
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29-0CT= gZ 13:29

052700 002000

2%:
052777 020000 175572 BIS #CLK,ATXCSR :POKE CLK UP
040777 oéoooo 175564 BIC #CLK.aTXCSR :POKE CLK DOWN
017701 175560 MOV atx §n R1 ACT AL
048701 075777 BIC #07577%.R1 axru £ DNA
020001 CMP RO,R1 ' ;COMPARE" EXP VS ACT
001401 BEQ +d,
104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
s:r ...ALSO CHECK DNA
005367 174736 DEC SHIFT of SHIFTS
001352 BNE 1 oo 1T AGAIN ?
:NOW POKE CLK TO SEE DNA
052777 020000 175532 BIS #CLK,ATXCSR :POKE CLK
001 .};1 IDN <ISYMOD>,<SYNINT>
o MOV #0,R0O  ;EXPECTED
012700 100000 MOV #100000,R0 ;EXPECTED
000 JENDC
017701 175522 MOV ATXCSR,RI :ACTUAL
042701 077777 BIC 877777 .R1 SSAVE DNA ONLY
020001 CMP RO,R1 :COMPARE EXP VS ACT
001401 BEQ Ry
104003 ERROR 3 :DNA SHOULD BE SET
S1F DNA DID NOT SET
SCHECK WORD LENGTH SELECT LOGIC
$TRPAR EIGHT,9.,0DDPAR,SYNINT, 125,525
,.rnxs TEST VERIFYS CHARACTER PLUS PARITY GENERATION
‘0F THE TRANSMITTER SECTION.
51T ALSO CHECKS DNA TIMING
: ;MODE : SYNINT
:LENGTH:EIGHT PLUS PARITY
*PARITY:0DDPAR
..CHARACTER 125
$TSTNOD
NEWTST
000000 SNWTST=0
001 JF B ©
SSNEWTEST \$TN,<>,SCOPE
JRP  ASCI,<>
JIF EQ SNWTST
NLIST
$NWTST=1
LSBITL T4 ASCI
STARS
SeTEST & ASCI
LIFF
ASCI
.ENDC
"ENDM
STARS
002 JIF B

10:02 PAGE 62-39
INITIALIZE THE COMMON TA

BIS #BITW,RO

B 5
GS
;EQUIV CF BITW

SEQ 0053
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e A2 22202 220222 RRRRRR R RRRRR R R R0 RRRR Rl Rddd)

—~
¥
~

(5) iFF

(5) NLIST

&) .REPT

(5) LIST

(S) ;;'tt'it'it.tttt'"'.0"""""".'."'.'t.l"""."'.'.t"i"'
(5) NLIST

(5) .ENDR

(S) LIST

(5) 001 .ENDC

22; 004216 000004 1ST4: SCOPE

(4) 000905 STN=STN+1

(3 .IFF

(3 SSNEWTEST \$TN, <>,

(3) 000 LENDC

(3) 001 .IF NE 4000R$SWR

(3) 002 .IF NB

(3) 003 JAF LE <=1

t%; - MOV #1,8TIMES ::D0 1 ITERATION
(3) MOV #,8TIMES ;::D0 ITERATIONS
(3) 002 .ENDC

(3) 001 LENDC

(3) 002 .UF NB

(3) MOV #,8LPADR :sSET SCOPE LOOFP ADDRESS
(3) 001 LENDC

(3) 000 LENDC

(3) 001 .IF NB

(3) 002 JIF DF SMAIL

(3) . IRP TNM,<\$TN=1>

(3) MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
(3) .ENDM

(3) 001 LENDC

(3) 000 LENDC

(2) 000000 .REPT 0

(2) NLIST

(2) LRADIX 10

(2) LLIST

(2) . IRP $DN,<\SN>

(2) NEWTST

(2) : MOV #SDN,STSTNM ;SAVE THIS

(2) .ENDM

(2) .NLIST

(2) .RADIX 8

(2) LLIST

(2) :.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
(2) :.11F NB <, MOV #,1COUNT :SET UP THIS ICOUNT
(2) :.JF NB ©

(2) : MOV # NEXT :GO TO THIS TEST WHEN THRU
(2) AFF

(2) NLIST

(2) LRADIX 10

(2) LLIST

(2) .IRP SDE‘<\SE>

(2) JUF DF  TST'SDE
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MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU

_—~
~

.ENDM
NLIST
.RADIX
%iis
:ENDC MOV #.EOP,NEXT :G0 TO THIS TEST WHEN THRU
LENDC(
:.11F NB <, MOV #,L0CK :SET UP FOR SCOPE LCOP
.NLIST
RADIX 10
SN=SN+1
$E=SE+1
.RADIX 8
LIST
.ENDR
004220 TSETUP MINT,SYNINT,EIGHT ,ODDPAR,26
004220 SRESET
004220 052777 000400 175500 BIS #MRESET,3TXCSR ;MASTER RESET
8825%2 012777 030000 175466 SAESET MOV #SYNINT ,aPARCSR ;SET THE MODE
004234 052777 000400 175464 BIS #MRESET,@TXCSR ;MASTER RESET

sSET MAINTENANCE MODE & SEND
;NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
006242 012777 004020 175456 Mov #MINT!SEND,@TXCSR

sSET HOD;.' OF BITS,PARITY SENSE,& LOAD SYNC REG

b i e e i i D o i NI TN e o i e NI N e e s i e V) TN NI N NI NI AL NN N AWNIND = NN NI PN NI N PN RN N NN NN

AAAAAAAA&AAAA&AﬁﬂﬂﬁaﬂﬂﬁﬂﬂﬂﬁﬁﬂﬂaAﬁﬂﬂaﬂﬂﬁﬂﬂﬂﬂﬂhﬂhhhﬂﬂﬂﬂhﬂ
vvvv\pvwvvvvvvvvvvvvvvvvvvvvvvv\vvvkuvvvvvvvvvvvvvvuvvvv

004250 012777 037026 175444 ov #SYNINT'EIGHT ! ODDPAR' 26, 3PARCSR
004256 016703 175444 MOV TXCSR,R3 :SET UP FOR ERROR MSG
004262 112777 000125 175442 MOVB  #125,3TXDBUF SLOAD DATA CHAR
004270 012767 000525 175202 MOV #525,$TMP1 :TO BE SHIFTED CHAR
004276 012767 000011 174616 MOV #9. SHIFT ‘# OF SHIFTS

-POKE CLK TO GET INTO SYNCRONIZATION
004304 $POKE
004304 052777 020000 175414 BIS #CLK,ATXCSR :POKE CLK UP
004312 042777 020000 175406 BIC #CLK,QTXCSR :POKE CLK DOWN
004320 005000 1%: CLR RO
004322 006067 175152 ROR $TMP1  :FORCE CARRY
004326 103002 BCC 2% :BR IF CARRY CLR
882%32 052700 002000 - BIS #B1TW,RO ;EQUIV OF BITW
004334 052777 020000 175364 BIS #CLK,TXCSR :POKE CLK UP
004342 042777 020000 175356 BIC #CLK.RTXCSR *POKE CLK DOWN
004350 017701 175352 MOV STXCSR,R1 SACTUAL
004354 042701 075777 BIC 2075777 .1 *SAVE BITW & DNA
004360 020001 CMP RO.R1 ;COMPARE EXP VS ACT
004362 001401 BEQ +
006364 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA

:BIT,...ALSO CHECK DNA

004366 005367 174530 DEC SHIFT  :# Of SHIFTS
004372 001352 BNE 18 ‘DO IT AGAIN ?

:NOW POKE CLK TO SEE DNA
004374 052777 020000 175324 BIS #CLK,3TXCSR :POKE CLK

001 AF IDN <1SYMOD>,<SYNINT>
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CNDUUA . M11 29-0(1-82 13:2 INITIALIZE THE COMMON TAGS
(1) JET
2}; - MOV #0,R0  ;EXPECTED
(1) 004402 012700 100000 MOV #100000,R0 :EXPECTED
(1) 000 JENDC
(1) 004406 017701 175314 MOV TXCSR,RY ;ACTUAL
(1) 004412 042701 077777 BIC R77777.R1 :SAVE DNA ONLY
(1) 004416 020001 CMP RO,R1 :COMPARE EXP VS ACT
(1) 004420 001401 BEQ RYA
(1) 006422 104003 ERROR 3 :DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
{}; :CHECK WORD LENGTH SELECT LOGIC

8154 004424 $TRPAR EIGHT,11.,EVEPAR,ISYMOD,125,2252

(N ::THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) ::0F THE TRANSMITTER SECTION.
(1) ::1T ALSO CHECKS DNA TIMING
(1) s sMODE:1SYMOD
(1 SILENGTH:EIGHT PLUS PARITY
(1) ::PARITY:EVEPAR
§}§ ::CHARACTER:125
(1) 004424 $TSTNO
(2) 0046424 NEWTST
(3) 000000 SNWTST=0
(3) 001 AF B ©
(3) 004424 SSNEWTEST \$TN,<>,SCOPE
(4) .IRP ASC],<>
(4) JIF EQ SNWTST
(4) .NLIST
(4) $NWTST=1
(4) LSBTTL T5 ASCI
(4) LIST
(4) STARS
(4) ;*TEST S ASCI
(4) VIFF
(4) ASC]
(4) JENDC
(4) .ENDM
(&) 004624 STARS
(5) 002 JIF B
(5) PR AR R RN RN RN NN RN R AR RN RPN AR AR R RR RN RR R RN RAR RO RO
(5) LIFF
(5) CNLIST
(5) .REPT
(5) LIST
(S) :;ttttttttIi.t"."'."t'.'t.!l!tt'tttllt!tttt.!ttl.ttllttltt.ttl
(5) .NLIST
(5) ENDR
(5) LLIST
(5) 001 JENDC
::; 004426 000004 TSTS:  SCOPE
(4) 000006 $TN=$TN*1
(3) LIFF
(3) $ENEWTEST \$IN, >,

SEQ 0056
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IZE THE COMMON TAGS

-ENDC
.IF NE 40008$SWR
.1F NB

- MOV #1,8TIMES ::D0 1 ITERATION

’ MOV #,$TIMES ::D0 ITERATIONS

JENDC

JENDC

.IF NB

- MOV #,$LPADR ::SET SCOPE LOOP ADDRESS
JENDC

.if NB

.IF DF SMAIL
.IRP TNM,<\$TN=1>

MOV #'TNM,STESTN ssSET TEST NUMBER IN APT MAIL BOX

LRADIX 10

.IRP $DN,<\SN>

NEWTST

3 MOV #SDN,STSTNM ;SAVE THIS
.ENDM
.NLIST
.RADIX 8

3 NB <, MOV # ,RETURN ;SET UP TH
:.xxrﬂga <, MOV #,1COUNT sSET UP TH

<O
MOV # NEXT ;GO TO THIS TEST WHEN THRU

.RADIX 10

.IRP SDE,(\SE)
.IF DF TST'SDE
: MOV HTIST'SDENEXT ;GO TO THIS TEST WHEN THRU

MOV # .EOP ,NEXT ;GO TO THIS TEST WHEN THRU

IS RETURN
IS ICOUNT

:.11F NB <, MOov #,LCCK  ;SET UP FOR SCOPE LOOP

S$E=SE+1
.RADIX 8

SEQ 0057
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NITIALIZE THE COMMON TAGS — SEQ 0058
(2) JLIST
(2) "ENDR
(1) 004426 TSETUP MINT,ISYMOD,EIGHT,EVEPAR,26
(g) 004426 SRESET
(3) ooa«ge 052777 000400 175272 BIS #MRESET,aTXCSR ;MASTER RESET
gzg 882243 012777 000000 175260 - MOV #1SYMOD .aPARCSR :SET THE MODE
:g; 004442 052777 000400 175256 BIS #MRESET,3TXCSR ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) *NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
zg; 004450 012777 004020 175250 MOV #MINT ! SEND,@TXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,& LOAD SYNC REG
(2) 004456 012777 007426 175236 MOV #1SYMOD'EIGHT 'EVEPAR ' 26,3PARCSR
(1) 0064b& 016703 175236 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 004470 112777 000125 175234 MOVB  #125,3TXDBUF  :LOAD DATA CHAR
(1) 006476 012767 002252 174774 MOV #2252,$TMP1 *TO BE SHIFTED CHAR
(1) 006504 012767 000013 174410 MOV #11, SHIFT ‘# OF SHIFTS
(1) :POKE CLK TO GET INTO SYNCRONIZATION
(1) 004512 $POKE
(2) 004512 052777 020000 175206 BIS #CLK,ATXCSR :POKE CLK UP
(2) 004520 042777 020000 175200 BIC #CLK.ATXCSR *POKE CLK DOWN
(1) 004526 005000 1%: CLR RO
(1) 004530 006067 174744 ROR $TMP1  :FORCE CARRY
(1) 004534 103002 BC( 2% ‘BR If CARRY CLR
}}; 832223 052700 002000 . BIS #BITW.RO :EQUIV OF BITW
(2) 004542 052777 020000 175156 BIS #CLK,BTXCSR ;POKE CLK UP
(2) 004550 042777 020000 175150 BIC #CLK.TXCSR *POKE CLK DOWN
(1) 004556 017701 175144 MOV aTXCSR, R SACTUAL
(1) 004562 042701 075777 BIC #075777 ,R1 :SAVE BITW & DNA
(1) 004566 020001 CMP RO,R1  :COMPARE EXP VS ACT
(1) 004570 001401 BEQ L+
(1) 004572 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1) ‘BIT,...ALSO CHECK DNA
(1) 004574 005367 174322 DEC SHIFT  :# OF SHIFTS
(1) 004600 001352 BNE 1% ‘D0 1T AGAIN ?
(1) :NOW POKE CLK TO SEE DNA
(1) 004602 052777 020000 175116 BIS #CLK,TXCSR :POKE CLK
f}; 001 '{;1 IDN <ISYMOD>, <ISYMOD>
:}; 024610 012700 000000 e MOV #0,R0  ;EXPECTED
(1) MOV #100000,R0 :EXPECTED
(1) 000 JENDC
(1) 006614 017701 175106 MOV aTXCSR,R1 :ACTUAL
(1) 004620 04201 077777 BIC 877777 .R1 *SAVE DNA ONLY
(1) 004626 02000° CMP RO,R1 *COMPARE EXP VS ACT
(1) 004626 001401 BEQ RYA
(1) 004630 104003 ERROR 3 :DNA SHOULD BE SET
(1) S1F DNA DID NOT SET
<}) *CHECK WORD LENGTH SELECT LOGIC
(1)
8155 004632 $TRPAR EIGHT,11.,0DDPAR, ISYMOD,125,3252
(" :THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
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INITIALIZE THE COMMON TAGS

::0F THE TRANSMITTER SECTION.
1T ALSO CHECKS DNA TIMING
..nODE 1SYMOD
..LEN?TH ElguIRPLus PARITY
..CHARACT 1125
$TSTNO
NEWTST
SNWTST=0
AF B ©
SSNEWTEST \$TN,<>,SCOPE
jd ASCI,<>
NWTST

- -

16 ASCI

Té ASCI

e Sa e o @Ml o o

— .——cmm — =N Z D et
OO "M D —t =

=

";22 MNuaPpeDE MDD
w

ltt'.til.".'."""'f.."""'t...."...I.t'.ﬁ"..'...."".!.

NLIST
.REPT
.LIST

ti'i.i'i.."t""'t"ttQ.".t'tlilt!'t'.'t.'tlt.tttt..'.it.tt.'

NLIST
.ENDR
.LIST

.ENDC

1516: SCOPE

$TN=8STN+1

JFF
$SSNEWTEST \$IN, <>,

.ENDC

.JF NE 40008$SWR

.JF NB

JF LE <=1>

- MOV #1,8TIMES ::D0 1 ITERATION

MOV #,8TIMES ::D0 ITERATIONS

LENDC

LENDC

.IF NB
Mov #,$LPADR

-
-

S

::SET SCOPE LOOP ADDRESS

SEQ 0059
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001
000
000000

052777
012777

052777

012777

012777

000400

000400

004020

007026

17
000000 17
17

175042

175030
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.IRP TNM,<\$TN=1>
—— MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
LENDC
LENDC
LREPT 0
NLIST
RADIX 10
LIST
IRP__ SDN,<\$N>
NEWTST
3 MOV #SDN,STSTNM ;SAVE THIS
.ENDM
NLIST
.RADIX 8
LIST
:.]1F NB <>, MOV # ,RETURN :SET UP THIS RETU
:.}g!uga<> <>, MOV #,1COUNT :SET UP THIS ICOU
: oo MOV # NEXT :GO TO THIS TEST WHEN THRU
.NLIST
LRADIX 10
LIST
. IRP SDE,(\SE)
JIF DF TST'SDE
: MOV #TST'SDE  NEXT :GO TO THIS TEST WHEN THRU
.ENDM
LNLIST
LRADIX 8
41k
: MOV # .EOP,NEXT ;GO TO THIS TEST WHEN THRU
.ENDC
LENDC
:.11F NB <, MoV #,L0CK :SET UP FOR SCOPE LOOP
NLIST
LRADIX 10
SN=$N+1
$E=SE+1
.RADIX 8
LLIST
.ENDR
Ig%gg? MINT,ISYMOD,E IGHT ,0DDPAR,26
64 BIS #MRESET ,@TXCSR ;MASTER RESET
52 ——— MOV #1SYMOD ,aPARCSR ;SET THE MODE
BIS #MRESET,@TXCSR ;MASTER RESET

sSET HAINTENANCE MODE & SEND
NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
HOV #MINT!SEND,@TXCSR

;SET MODE.# OF BITS,PARITY SENSE,® LOAD SYNC R
MOV #1SYMOD'EIGHT!O0DD A 2 .3 P ARCS

EG
R

R
N

N
T

SEQ 0060
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(1) 004672 01679; 175032 MOV ™ ga R3 :SET UP FOR ERROR MSG
(1) 004676 1127 00215 175?26 MOVB  #125,3TXDBUF  :LOAD DATA CHAR
(1) 0047064 012767 0032 g 174566 MOV 2,$TMP *TO BE SHIFTED CHAR
(1) 004712 012767 000013 174202 MOV 1, SHIFT ‘¥ OF SHIFTS
(N :POKE CLK TO GET INTO SYNCRONIZATION
(1) 004720 $POKE
(2) 004720 052777 020000 175000 BIS #CLK,ATXCSR :POKE CLK UP
(2) 004726 042777 020000 174772 BIC #CLK.ATXCSR :POKE CLK DOWN
(1) 00473 005000 1%: CLR RO
(1) 004736 006067 174536 ROR $TMP1  :FORCE CARRY
(1) 004742 103002 BCC 2 :BR IF CARRY CLR
g}; 882;§3 052700 002000 - BIS #B1TW,RO :EQUIV OF BITW
(2) 004750 052777 020000 174750 BIS #CLK,ATXCSR :POKE CLK UP
(2) 004756 042777 020000 174742 BIC #CLK .ATXCSR *POKE CLK DOWN
(1) 004764 017701 174736 MOV TXCSR, R SACTUAL
(1) 004770 042701 075777 BIC #075777.R1 :SAVE BITW & DNA
(1) 004774 020001 CMP RO,R1 “:COMPARE EXP VS ACT
(1) 004776 001401 BEQ ,+
(1) 005000 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1) :BIT,...ALSO CHECK DNA
(1) 005002 005367 174114 DEC SHIFT  :# OF SHIFTS
(1) 005006 001352 BNE 1% ‘DO IT AGAIN ?

(1) :NOW POKE CLK TO SEE DNA
(1) 005010 052777 020000 174710 BIS #CLK,ATXCSR ;POKE CLK
:}; 001 .};T IDN <ISYMOD>,<ISYMOD>
:}; 005016 012700 000000 e MOV #0,RP0  EXPECTED
(1 MOV #100000,R0 ;EXPECTED
(1) 000 JENDC
(1) 005022 017701 174700 MOV STXCSR,R1 :ACTUAL
(1) 005026 042701 077777 BIC 877777 R *SAVE DNA ONLY
(1) 005032 020001 CMP RO,R1 : COMPARE EXP VS ACT
(1) 00503¢ 001401 BEQ .+
(1) 005036 104003 ERROR 3 :DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
(1 SCHECK WORD LENGi+H SELECT LOGIC
(1)
8156
8157 005040 $TRPAR EIGHT,9.,EVEPAR,SYNINT, 252,252
(1) ssTHIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) S:0F THE TRANSMITTER SECTION.
(1) :31T ALSO CHECKS DNA TIMING
(1) 2 3MODE : SYNINT
) SSLENGTH:EIGHT PLUS PARITY
(1) ::PARITY:EVEPAR
:}; : sCHARACTER:252
(1) 005040 $TSTNOD
(2) 005040 NEWTST
(3) 000000 SNWIST=0
(3) 001 JF B ©
(3) 005040 SSNEWTEST \$TN,<>,SCOPE
(&) JRP  ASCI,<>
(4) "IF E0 SNWTST
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(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4) 005040

(%) 002
(%)

(5)

(%)

(%)

(%)

(%)

(%)

(%)

(%)

(5) 001
22; 005040 000004
(4) 006010
(3)

(3)

(3 000
(3) 001
(3) 002
(3) 003
(3)

(3)

(3)

(3) 002
(3) 001
(3) 002
(3)

(3) 001
(3) 000
(3) 00
(3) 002
(3)

(3)

(3)

(3) 001
(3) 000
(2) 000000
(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

14-DEC-82 10:0
3:29

[ od s ]

z
fmn
OO TMDN—d=dbs 4D
~m™m
~NON
mro

-48
T

l HE COMMON TAGS

et P>
ll.

p—
~

ASCI

NN =N =D

T7 ASCI

e SaNe o @M.
MM s -FnNZ2Z
2 TM=P=—DErT

SSNEWTEST
E 40C08$SWR

E <=1>
MOV #1,8TIMES

MOV #,8TIMES

o FEZﬁ

D2DMMM b= =M™

Mov # ,SLPADR

oo

DM 22
D205 gﬂn
-

©

SMAIL
TNM, <\$TN=-1>
MOV #'TNM, STESTN

—— N =R
D -4
o

10
$DN, <\SN>
MOV #SDN,$TSTNM

—DrmaZZZ
VNO=TDVOOO

L
=~

.lR
NEWTST

"ENDM
INLIST

\$TN, O,

::D0 1 ITERATION

::D0 ITERATIONS

:sSET SCOPE LOOP APDRESS

s:SET TEST NUMBER IN APT MAIL BOX

;SAVE THIS

SEQ 0062
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CNDUU=A MACY11_30(1046) 14-95(-82 10:02 PAGE 62-49 .

CNDUUA. M7 Y 29-0CT-82 13:2 INITIALIZE THE COMMON TAGS SEQ 0063
(2) .RADIX 8
(2) LIST
(2) :.11F NB <o, MOV # ,RETURN :SET UP THIS RETURN
(2) :.11F NB <>, MOV #,1COUNT :SET UP THIS ICOUNT
(2) :.1F NB <
g%; - MOV #.NEXT ;GO TO THIS TEST WHEN THRU
(2) NLIST
(2) RADIX 10
(2) LIST
(2) JIRP_ $DE <\$E>
(2) JIF DF  TSTYSDE
(2) ; MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(2) -ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) JIFF
(2) : MOV # .EOP,NEXT ;GO TO THIS TEST WHEN THRU
(2) "ENDC
(2) .ENDC
(2) ;. 1IF NB <o, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(2) NLIST
(2) LRADIX 10
(2) SN=$N+1
(2) SE=$E+1
(2) LRADIX
(2) LIST
(2) .ENDR
(1) 005042 TSETUP MINT,SYNINT,EIGHT,EVEPAR,26
(2) 005042 SRESET
(3) 005042 052777 000400 174656 BIS #MRESET,@TXCSR  ;MASTER RESET
(2) 005050 012777 030000 174644 MOV #SYNINT,@PARCSR :SET THE MODE
(2) 005056 SRESET
53; 005056 052777 000400 1746642 BIS #MRESET,ATXCSR  :MASTER RESET
(2) ;SET MAINTENANCE MODE & SEND
(2) ;NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
55; 005064 012777 004020 174634 MOV #MINT!SEND,@TXCSR
(2) ) ;SET MODE.# OF BITS,PARITY SENSE.& LOAD SYNC REG
(2) 005072 012777 037426 174622 MOV #SYNINT 'EIGHT 'EVEPAR' 26, 3PARCSR
(1) 005100 016703 174622 MOV TXCSR,R3 ;SET UP FOR ERROR MSG
(1) 005104 115777 800252 174620 MOVB 055%.51xoaur :LOAD DATA CHAR
(1) 005112 012767 000252 174360 MOV #252,$TMP1 :TO BE SHIFTED CHAR
(1) 005120 012767 000011 173774 MOV #9. . SHIFT :# OF SHIFTS
(1) :POKE CLK TO GET INTO SYNCRONIZATION
(1) 005126 $POKE
(2) 0051%6 052777 020000 174572 BIS #CLK,ATXCSR ;POKE CLK UP
(2) 005134 042777 020000 174564 BIC #CLK.ATXNCSR :POKE CLK DOWN
(1) 005142 005000 18: (LR RO
(1) 005144 006067 174330 ROR $TMP1  ;FORCE CARRY
(1) 005150 103002 BCC 2% :BR I[F CARRY CLR
:}; 88;}25 052700 002000 - BIS #811W,R0 ;EQUIV OF BITW
(2) 005156 052777 020000 174542 BIS #CLK,3TXCSR :POKE CLK UP
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0(1046) 14-DEC-B2 10:02 PAGE 62-50
23-0(1-32 13:29 INITIALIZE THE COMMON TAGS
042777 020000 174534 BIC #CLK,DTXCSR ;POKE CLK DOWN
17701 1;49;8 MOV artx §n R SACTUAL
42701 075777 BIC #075777.R1 :SAVE BITW & DNA
020001 CMP RO,R1 “:COMPARE EXP VS ACT
001401 BEQ +d
104003 ERROR 3 ;BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,...ALSO CHECK DNA
005%67 173706 DEC SHIFT  :# OF SHIFTS
001352 BNE 1$ :D0 IT AGAIN ?
:NOW POKE CLK TO SEE DNA
052777 020000 174502 BIS #CLK,DTXCSR :POKE CLK
001 }Fr IDN <ISYMOD>,<SYNINT>
- MOV #0,R0  ;EXPECTED
012700 100000 MOV #100000,R0 sEXPECTED
000 .ENDC
017701 174472 MOV ATXCSR,R1 ;ACTUAL
042701 077777 BIC #7777 R :SAVE DNA ONLY
020001 CMP RO,R1 :COMPARE EXP VS ACT
001401 BEQ R
104003 ERROR 3 ;:DNA SHOULD BE SET
:1F DNA DID NOT SET
:CHECK WORD LENGTH SELECT LOGIC
$TRPAR EIGHT.9..0DDPAR,SYNINT,252,652
s:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATIOM
::0F THE TRANSMITTER SECTION.
::1T ALSO CHECKS DNA TIMING
s sMODE : SYNINT
SSLENGTH:EIGHT PLUS PARITY
:sPARITY:0ODDPAR
:sCHARACTER: 252
$TSTNO
NEWTST
000000 SNWTST=0
001 AF B ©
$SNEWTEST \$TN,<>,SCOPE
JRP ASCI, <
JIF EQ SNWTST
NLIST
$NWTST=1
LSBITL T10 ASCI
LIST
STARS
;*TEST 10 ASCI
JIFF
ASCI
LENDC
.ENDM
STARS
:ittl't!llt'tt'lt.".t't'it"'tt'tttllttlttitttlit'ttttltttttlttl
"1FF

«NLIST

SEQ 0064



CNDUU=-A MACY11_30(1046) 14-DEC-B2 10:02 PAGE 62-51
52 CNDUUA.M11 23-0(1-82 13:29 INITIALIZE THE COMMON TAGS SEQ 0065

.REPT
LIST

::'"tt".t'tt.t""."t"."".".i"'.l"i...l't'.'."Il..t..'.

~
N
-~

LLIST

001 .

005246 000004 i
000011

L 4

L]

™ [eSySS Sy 2laal [ Taalasl b bt T) e = wvymrm
-
-

SSNEWTEST \$IN, <>,
E 40008$SWR

<=1>
MOv #1,8TIMES ::D0 1 ITERATION

MOV #,8TIMES ::D0 ITERATIONS

o

MMM NI i D
-
=0

m®

o
o
-—
e e @

MOV # ,SLPADR ::SET SCOPE LOOP ADDRESS

o
o
e

. ® & 9 0

SMAIL
P TNM,<\$TN=1>
MOV #'TNM, STESTN :sSET TEST NUMBER IN APT MAIL BOX

001 "ENDC
000
000000 "REPT 0
"RADIX 10
. IRP $DN,<\SN>

.~~~ T~~~ T~~~ T~ T~ T~~~ T~~~ T~ T~ N~~~ P~ P~ T~~~ P~ T~~~ T~ P~~~ T~~~ T~~~ P~ P~ P~
AL AL L L AL DAL AL NI AL AL AL ORI NI U AU AL N LN N NN N NN A NN N N NN N NN NN S B 5SS v o
- e N N P N N N N N N N N N N N N N N N N i o N N P i N T P " i N N P T P P

NEWTST
3 MOV #SDN,STSTNM ;SAVE THIS
+.ENDM
NLIST
e e
:.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
:.}gfuga <, MOV #,1COUNT sSET UP THIS ICOUNT
2o <
:lff MOV # NEXT ;GO0 TO THIS TEST WHEN THRU
NLIST
LRADIX 10
LLIST
.IRP $DE‘<\SE>
.AF DF TST'SDE
] MOV #1STSDE NEXT ;GO TO THIS TEST WHEN THRU
2 .ENDM
é NLIST



B 6
CNDUU=A MACY11 30(10632 116-9E(°8£ 10: 02 PAG E 62-52

CNDUUA.M11 29-0CT TIALIZE THE COMMON TAGS SEG 0066
(2) LRADIX 8
(2) LIST
(5) JIFF
(2) : MOV #.EOP, NEXT :G0 TO THIS TEST WHEN THRU
(2) JENDC
(2) JENDC
(2} :.11F NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(5) NLIST
(2) LRADIX 10
(2) $N=$N+1
(2) $SE=SE+1
(2) .RADIX 8
(2) LIST
(2) .ENDR
(1) 005250 TSETUP MINT,SYNINT,EIGHT,ODDPAR, 26
(§> 005250 SRESET
(3) 005250 052777 000400 174450 BIS #MRESET,TXCSR :;MASTER RESET
(2) 005256 012777 030000 174436 MOV #SYNINT,@PARCSR ;SET THE MODE
(g) 005264 $SRESET P
§23 005264 052777 000400 174434 BIS #MRZSET,3TXCSR  ;MASTER RESET
(2) ;SET MAINTENANCE MODE & SEND
(2) NOTE:BIT WINDOWELLK ARE CLEARED (MTDATA=0)
zg; 005272 012777 004020 174426 MOV #MINT'SEND,@TXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,.& LOAD SYNC REG
(2) 005300 012777 037026 174414 MOV #SYNINT'EIGHT ! ODDPAR ' 26,3PARCSR
(1) 005306 016703 174414 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 005312 112777 000252 174412 MOVB  #252,3TXDBUF .LOAD DATA CHAR
(1) 005320 012767 000652 174152 MOV #652.% np1 :TO BE SHIFTED CHAR
(1) 005326 012767 000011 173566 MOV #9. SHIFT ¥ OF SHIFTS
(1) POKE CLK TO GET INTO SYNCRONIZATION
(1) 005334 $POK
(2) 005334 052777 020000 174364 BIS #CLK,RTXCSR :POKE CLK UP
(2) 005342 042777 020000 174356 BIC #CLK,RTXCSR :POKE CLK DOWN
(1) 005350 005000 1$: CLR RO
(1) 005352 006067 174122 ROR $TMP1  ;FORCE CARRY
(1) 005356 103002 BCC 2% :BR [F CARRY CLR
:}; 883%22 052700 002000 - BIS #B81TW,RO’ :EQUIV OF BITW
(2) 005364 052777 020000 174334 BIS #CLK,ATXCSR :POKE CLK UP
(2) 005372 042777 020000 174326 BIC #CLK.RTXCSR :POKE CLK DOWN
(1) 005400 017701 174322 MOV aTXCSR,RT *ACTUAL
(1) 005404 042701 075777 BIC #075777.R1 SSAVE BITW & DNA
(1) 005410 020001 CMP RO.R1 ;COMPARE EXP VS ACT
(1) 005412 001401 BEQ RYA
(1) 005414 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1 ‘BIT,...ALSO CHECK DNA
(1) 005416 005367 173500 DEC SHIFT  :# OF SHIFTS
(1) 005422 001352 BNE 1$ ‘D0 IT AGAIN ?
(N :NOW POKE CLK TO SEE DNA’
(1) 005624 052777 020000 174274 8IS #CLK,3TXCSR :POKE CLK
:}; 001 .{;' IDN <ISYMOD>,<SYNINT>
(1 MOV #0,R0  ;EXPECTED
(1 JIFF
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—

005432 012708
005436 017701

005450
005452

005454

005454
005454
000000
001
005454

- vvvvvvvvvvvvwvvwvvvvvvvvo\nvuvvvvvu

005454
002

001
005454 000004
000012

.~ .~~~ T~~~ T~~~ T~ T~~~ T~~~ T~~~ T~~~ T~~~ P P~~~ — . P P~ PN~~~
WWIN S B BNV NVMAWVNNE B BB BB ONNNN = o B\ e h o b h ch s b b

- N N N S St N N N N S

W

000
001
002

595(-82

100000

174264
077777

10:02 PAGE 62-53

INITIALIZE THE CCMMON TAGS

o MOV #100000,R0 ;EXPECTED
MOV ATXCSR,R1 :ACTUAL
BIC #77777.R1 SSAVE DNA ONLY
CMP RO,R1 :COMPARE EXP VS ACT
BEQ o
ERROR 3 :DNA SHOULD BE SET

;1F DNA DID NOT SET
sCHECK WORD LENGTH SELECT LOGIC

$TRPAR EIGHT,9.,EVEPAR,SYNINT,0,0
::THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
$:0F THE TRANSMITTER SECTION.
3317 ALSO CHECKS DNA TIMING
2 sMODE : SYNINT
SLENGTH:EIGHT PLUS PARITY
::PARITY:EVEPAR
::CHARACTER:0

$TSTNO

NEWTST

SNWTST=0

AF B ©
SSNEWTEST

.IRP ASCI, <

LJF EQ SNWTST

.NLIST

SNWTST=1

LSBTTL TN ASCI

LLIST

s*TEST N ASCI

\$TN,<>,SCOPE

ENDC

.ENDM

ST?R%
;gttﬁt'ttltt.ttt.'li.'i't'tttt'ttititt'tltittt'tttttittttitttttt.
AFF

«NLIST

.REPT

B2 2222222223332 2322332322323232222230 22222200220 0R2RRRRRRRRRRRRRA)

TNLIST

g T
C
1:

o e
S Suea 7Y e 1 vymre
-y MZ v
-un - W
o
—
=
*
-

SSNEWTEST

C
NE 4000E$SWR
NB

\$IN, O,
D

SEQ 0067



CNDUU=A MACY11_30(1046) ;6595(-82 10:02 PAGE 62-54

CNDUUA . M1 29-0CT1-82 1 INITIALIZE THE COMMON TAGS SEQ 0068
003 F LE <=1>
16F MoV #1,8TIMES ;:D0 1 ITERATION

Mov #,8TIMES ::D0 ITERATIONS
002 +ENDC
001 +ENDC
002 .1F NB

Mov ¥ ,SLPADR ;sSET SCOPE LOOP ADDRESS
001 +ENDC
000 +ENDC
001 .1F NB
002 .IF DF SMAIL

.IRP TNM,<\$TN=1>
ENDR MOV #°TNM,STESTN ::;SET TEST NUMBER IN APT MAIL BOX

-ENDC

000000 REPT 0

RADIX 10

« IRP $ON, <\SN>

NEWTST

H MOV #SDN,STSTNM ;SAVE THIS
.ENDM
.NLIST
.RADIX B8

LIST

:.11F NB <, MoV # ,RETURN :SET UP THIS
:.}gFNgB< <>, Mov #,1COUNT ;SET UP THIS
oo >

: MOV # NEXT ;GO TO THIS TEST WHEN THRU

o0
[=le)
O -

RETURN
ICOUNT
T

X 10

.IRP $DE ,<\$E>

"IF OF TSTYSDE
. MOV #TST'SDE.NEXT ;G0 TO THIS TEST WHEN THRU

MOV # .EOP NEXT ;GO TO THIS TEST WHEN THRU

NB <, MoV #,L0CK ;SET UP FOR SCOPE LOOP

“AAAAhAAAﬂAﬂAAAA'\AA‘\A&A’\AAAﬂf\d\l\;\AAAAAAAAI\AA’\’\AAAA’\AAAAAA

Lt Lt L L L L LS LS LS LS ST NL NI NT NI NS TN LS LN LN NI LS TN LS DN LS LN LS LN N LS DN LS LN L STV T W IV LV VLW (W [V LV VLV
~ o o o e e e N N N N N N N e N e N e e e S W ' N e N e e e e e N N N N N N N it N

=3

.ENDR
005456 TSETUP MINT,SYNINT EIGHT ,EVEPAR, 26



CNDUU=A MACY11
CNDUUA . M1

o~~~ -~ —~ T~~~ T~~~ T~~~ T~ P~~~ P~~~ T~~~ T~~~ T~~~ P~~~

s it e O e o e D e i i D i D i D o i D ) i i e D o e e D NI N D D i B PN\ D D e e e =B NI NI NI NI NI NI RIINNIND

\—vw\—O\—vvwvvvvvvvvvvvvvvvvvvvvv\-'vvvvvvvvvvvvvv\fvwvvwvvvvy

005456

00

VIVIWVIWVAWVIWVAIWVAIVAIWA . WAV I
ONO"OCOC O VTWWIWAWVIWVAIWIUVIVY - AWV

NNV LDOO NN VNS S WWNN=O
OOV ONNON SOOI SO OSSO

005632

005640

005644
005650
005654
005656
005660

005662

0(1046)

29-0CT-82 13:2

052777
012777

052777

8 OO0 =000000 O—=0000
~n
ON WW OfONNNN NOOONN

ON ViIFh OOOCOONN OO0ONN
- NN WeamaayN ONONO NN

012700

000
017701
042701
020001

001401
104003

16-95(*82
000400 174242
030000 174230
000400 174226
004020 174220
037426 174206
174206
000000 174204
000000 173744
000011 173360
020000 174156
020000 174150
173714
002000
020000 174126
020000 174120
1764114
075777
173272
020000 174066
100000
174056
077777

INITIALI
SRESET

SRESET

sSET MA]

10:02 PAGE 62-55

ZE THE COMMON TAGS

BIS #MRESET,aTXCSR ;MASTER RESET
Mov #SYNINT,QPARCSR :SET THE MODE
BIS #MRESET,aTXCSR ;MASTER RESET
NTENANCE MODE & SEND

sNOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
Mov #MINT!SEND,@TXCSR

;SET HODEol OF BITS,PARITY SENSE,.R LOAD SYNC REG

:POKE CL
$POKE

1%:

2%:

:NOW POK

.IF
JFT

. IFF
LENDC

$TRPAR

#SYNINY'EIGﬁT'EVfPAR'Zb aPARCSR
MOV TXCSR,R3 :SET UP FOR ERROR MSG
MOVB  #0,3TXDBUF .LOAD DATA CHAR

MOV 00 srnp1 :T0 BE SHIFTED CHAR

MOV 4 OF SHIFTS

K T0 GET 1uio svucaonnzAilou

BIS #CLK,ATXCSR :POKE CLK UP

gzg gng.atxcsn :POKE CLK DOWN,

ROR $TMP1  ;FORCE CARRY

BCC 2$ :BR IF CARRY CLR

BIS #B1TW,RO :EQUIV OF BITW

BIS #CLK,@TXCSR :POKE CLK UP

BIC #CLK.ATXCSR :POKE CLK DOWN

MOV aTXCSR, R *ACTUAL

BIC #075777.R1 :SAVE BITW & DNA

g?g n9£n1 : COMPARE "EXP VS ACT

ERROR ;BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,...ALSO CHECK DNA

DEC SHIFT  :# OF SHIFTS

BNE 1s ‘DO IT AGAIN ?

E CLK TO SEE DNA

8IS #CLK,@TXCSR :POKE CLK

IDN <ISYMOD>,<SYNINT>

MOV #0,R0O ;EXPECTED

MOV #100000,R0 ;EXPECTED

MOV aTXCSR,R1 :ACTUAL

BIC #77777.R1 :SAVE DNA ONLY

ggg notat :COMPARE EXP VS ACT

+
ERROR 3 :DNA SHOULD BE SET

:1F _DNA DID NOT SET
s CHECK WORD LENGTH SELECT LOGIC

EIGHI 9..0DDPAR,SYNINT,0,400
:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
*OF THE TRANSMITTER SECTION.

::1! ALSO CHECKS DNA TIMING

: MODE : SYNINT

SEQ 0069
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CNDUUA. M1 29-0CT1-82 1

(1)
00566
00566
000000
00
005662
005662
002

001
005662 000004
000013

N AN N N N N AN N N N NN W NN N W NN 8 B S WV WV NANWNS B B B BB BB P NWRIN = b b

AﬂAAAAAaﬂﬁnﬁaAAAkﬂ“ﬂ\ﬂﬂﬂﬂﬂaaﬁﬂﬂhﬂhﬁﬂﬂﬂAAAAAAﬂﬁﬂAAAAﬂAAﬂA
W
vuww\-r\.-vvvvvvvvvvvvvvvvw\-vvvvvvvvvuvvvvvvkuuvvvvvvvwvvv

14-DEC=-82 10:02 PAGE 62-
3:29 INI lE

NITIALI OMMON TAGS

:EIGHT PLUS PAR]ITY
:0DDPAR
ER:0

< O

$TSTNO
NEWTST
SNWTST=0
JF B &
SENEWTEST \$TN,<>,SCIPE
ASCI, <>
SNWTST
s

v
~—-—.—-90

112 ASCI

VN —-t—nNnnmMm

T 1 ASCI

. e SaNe & M o @
——dTIIT e @ =" N Z Z rete
TMPI2Z2 M=ud=DEr MO

VOVCT MDDV =i
DnNnEO

4222323323322 22222222222202020R 0220220 R R RRRRRRRRRRRRRR 2R 2]

‘:.......".l"""""."""'t'.".tt'ltl.".t.'tl'.'tl'tt"'t.

.NLIST
.ENDR
LLIST
.ENDC
TST12: SCOPE
$TN=8TN+1
. IFF
$SNEWTEST \$TN,<>,O
LENDC
.IF NE 40008$SWR
.JF NB
JF LE <=1>

MoV #1,$TIMES ::00 1 ITERATION
ITERATIONS

MOV #,8TIMES ;.00

MAIL
P TNM,<\$TN-1>

MOV #°TNM, STESTN s:SET TEST NUMBER IN APT MAIL BOX

MOV #,SLPADR :sSET SCOPE LOOP ADDRESS

SEQ@ 0070
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CNDUUA .M 29-0CT-82 13:2 ITIALIZE THE COMMON TAGS
(3) 001 LENDC
(3) 000 "ENDC
(2) 000000 .REPT 0
(2) NLIST
(2) .RADIX 10
(2) LIST
(2) .IRP $DN, <\$N>
(2) NEWTST
(2) : MOV #SDN,$TSTNM sSAVE THIS
(2) .ENDM
(2) NLIST
(2) RADIX B8
(2) LLIST
(2) :.11F NB <>, MOV # ,RETURN sSET UP THIS RE
(2) ;.11F NB <, MOV #,1COUNT :SFT UP THIS IC
(2) :.JF NB O
:%; :IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
(2) .NLIST
(2) LRADIX 10
(2) .LIST
(2) .IRP SDE‘<\SE>
(2) .UF DF TST'SDE
(2) 3 MOV #TST'SDE  NEXT ;G0 TO THIS TEST WHEN THRU
(2) .ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) IFF
(2) 3 MOV #.EOP, NEXT ;GO TO THIS TEST WHEN THRU
(2) <ENDC
(2) LENDC
(2) ;.11F NB <, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(2) .NLIST
(2) RADIX 10
(2) SN=SN+1
(2) $SE=SE+1
(2) RADIX
(2) LIST
(2) .ENDR
(1) 005664 TSETUP MINT,SYNINT,EIGHT,ODDPAR,26
(2) 005664 $SRESET
(3) 005664 052777 000400 174034 BIS #MRESET,@TXCSR ;MASTER RESET
(2) 005672 012777 030000 174022 MOV #SYNINT ,aPARCSR ;SET THE MODE
(2) 005700 $RESET
23; 005700 052777 000400 174020 BIS #MRESET,@TXCSR ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) :NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
:g; 005706 (12777 004020 174012 MOV #MINT!SEND,@TXCSR
(2) :SET MODE.# OF BITS.P RITY SENSE.& LOAD SYNC REG
(2) 005714 012777 037026 174000 0 #SYNIN I‘EIGHT'ODDPAR'Zb aPAR(CSR
(1) 005722 016703 174000 MOV TXCSR,R3 sSET UP FOR ERROR MSG
(1) 005726 112777 000000 173776 MOov8e #0,3TXDBUF .LOAD DATA (HAR
(1) 005734 012767 000400 173536 MOV l‘éO.SlHP\ :T0 BE SHIFTED CHAR

SEQ 0071
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23 SZ 13:29

CNDUUA . M11 -0CT= INITIALIZE THE COMMON TAGS SEQ 0072
(1) 005742 012767 000011 173152 MOV #9.,SHIFT -# OF SHIFTS
POKE CLK TO GET INfO SYNCRONIZAYION
005750 $POKE
005750 052777 020000 17;750 BIS #CLK,DTXCSR ;POKE (LK UP
005756 042777 020000 173742 BIC #CLK.RTXCSR :POKE CLK DOWN
005764 005000 1%: CLR RO
005766 006067 173506 ROR $TMP1  :FORCE CARRY
005772 103002 BCC 2% :BR IF CARRY CLR
882353 052700 002000 - BIS #B1TW,RO sEQUIV OF BITW
006000 052777 020000 173720 BIS #CLK,@TXCSR ;POKE CLK UP
006006 04;777 020000 173712 BIC #CLK.TXCSR :POKE CLK DOWN
006014 017701 173706 MOV aTXCSR,R1 *ACTUAL
006020 042701 075777 BIC #075777 R SSAVE BITW & DNA
006024 020001 CMP RO,.R1 ;COMPARE EXP VS A(CT
006026 001401 BEQ , *h
006030 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,...ALSO CHECK DNA
006032 005367 173064 DEC SHIFT  :# OF SHIFTS
006036 001352 BNE 18 ‘D0 IT AGAIN ?
;NOW POKE CLK TO SEE DNA
006040 052777 020000 173660 BIS #CLK,TXCSR :POKE CLK
001 .};' 1DN <ISYMOD>, <SYNINT>
s MOV #0,R0O  ;EXPECTED
006046 012588 100000 a MOV #100000,R0 :EXPECTED
006052 017701 173650 MOV STXCSR,R1 :ACTUAL
006056 062701 077777 BIC #77777.R1 :SAVE DNA ONLY
006062 020001 CMP RO,R1 :COMPARE EXP VS ACT
006064 001401 BEQ YA
006066 104003 ERROR 3 :DNA SHOULD BE SET

;1F DNA DID NOT SET
sCHECK WORD LENGTH SELECT LOGIC

006070 $TRPAR EIGHT,9.,EVEPAR,SYNINT 377,377
::THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
:20F THE TRANSMITTER SECTION.
2317 ALSO CHECKS DNA TIMING
2 sMODE : SYNINT
s2LENGTH:EIGHT PLUS PARITY
ssPARITY:EVEPAR
:;CHARACTER:377

005070 $TSTNO
006070 NEWTST
000000 SNWTST=0
001 JAF B ©
006070 SSNEWTEST \$1IN,<>,SCOPE

JRP ASCI, <>

"IF EQ SNWTST

NLIST

SNWTST=1

.SBTTL 113 ASC I
LIST
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CNDUU=-A MACY11_30(1046) _}6595(-82 10:02 PAGE 62-59

CNDUUA . M11 29-0CT=82 1 INITIALIZE THE COMMON TAGS SEQ 0073
(%) STARS
(4) ;*TEST 13 ASCI
(4) JIFF
(4) ASCI
(4) LENDC
(4) .ENDM
(4) 006070 STARS
(5) 002 JIF B
(S) :iit'.t"""""""""0"""!'....'Q.Q'Q".Qtit.t.".".'t.t.
(5) LIFF
(5) NLIST
(5) .REPT
(5) LIST
(S) ::"lt".t.tttttt‘ltt't'ttt'.ttt"lt.'t't't'i't'.!'ttt"'i.ti'tt'.
(5) NLIST
(%) .ENDR
(5) LIST
(5) 001 .ENDC
52; 006070 000004 TST13: SCOPE
(4) 000014 $TN=STN+1
(3) IFF
(3) SSNEWTEST \$TN, <>, <>
<3) 000 JENDC
A3) 001 .IF NE 40008$SWR
(3) 002 .IF NB
(3) 003 JAF LE <=1>
{%3 . MOV #1,8TIMES ::D0 1 ITERATION
(3) MOV ¥,$TIMES ;:00 ITERATIONS
(3) 002 LENDC
(3) 001 .ENDC
(3) 002 JIF NB
(3) MOV #.$LPADR ;:SET SCOPE LOOP ADDRESS
(3) 001 LENDC
(3) 000 LENDC
(3) 001 .IF NB
(3) 002 JIF DF SMAIL
(3) IRP TNM,<\$TN-1>
(3) MOV #'TNM,STESTN  ;:SET TEST NUMBER IN APT MAIL BOX
(3) .ENDM
(3) 001 JENDC
(3) 00 .ENDC
(2) 000000 "REPT 0
(2) NLIST
(2) CRADIX 10
(2) .LIST
(2) JIRP  SDN,<\$N>
(2) NEWTST
(2) p MOV #SON,STSTNM :SAVE THIS
(2) "ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) ;.11F NB <>, MOV # ,RETURN :SET UP THIS RETURN
(2) :.11F NB <>, MOV #,1COUNT SSET UP THIS ICOUNI



CNDUU=-A HA(Y11230\|046) 1’.-9E(-82 10:02 PAGE 62-60

CNDUUA.M11 -0(T-82 13:2 INITIALIZE THE COMMON TAGS SEQ 0074
(2) :.JF NB O
2 ; S MOV # NEXT :GO TO THIS TEST WHEN THRU
(2) NLIST
(2) LRADIX 10
(2) LIST
(2) IRP__ $DE <\$E>
(%> “1F DF TSTY$DE
(2) ; MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(2) "ENDM
(2) NLIST
(S) "RADIX
(2) LIST
(2) JJFF
(2) ; MOV # .EOP,NEXT :GO TO THIS TEST WHEN THRU
(2) "ENDC
(2) .ENDC
(2) ;. 11F NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(2) .NLIST
(2) .RADIX 10
(2) $N=SN+1
(2) $E=SE+1
(2) LRADIX 8
(2) LLIST
(2) .ENDR
(1) 006072 TSETUP MINT,SYNINT,EIGHT,EVEPAR,26
¢§) 006072 $RESET
(3) 006072 052777 000400 173626 BIS #MRESET,3TXCSR ;MASTER RESET
(2) 006100 012777 030000 173614 MOV #SYNINT .9PARCSR :SET THE MODE
(2) 006106 $RESET
gg; 006106 052777 000400 173612 BIS #MRESET,3TXCSR ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) *NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
:g; 006114 012777 (004020 173604 MOV #MINT'SEND,aTXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,% LOAD SYNC REG
(2) 006122 012777 037426 173572 MOV #SYNINT'EIGHT 'EVEPAR'26,aPARCSR
(1) 006130 016703 173572 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 00613¢ 112777 000377 173570 MOVB  #377,3TXDBUF  :LOAD DATA CHAR
(1) 006142 012767 000377 173330 MOV #377.8TMP1 STO BE SHIFTED CHAR
(1) 150 012767 000011 172744 MOV #9. ,SHIFT ‘# OF SHIFTS
(1) -POKE CLK TO GET INTO SYNCRONIZATION
(1) 006156 $POKE
(2) 006156 052777 020000 173542 BIS #CLK,ATXCSR :POKE CLK UP
(2) 006164 042777 020000 173534 BIC #CLK.ATXCSR :POKE CLK DOWN
(1) 006172 005000 1%: CLR RO
(1) 006174 006067 173300 ROR $TMP1  ;FORCE CARRY
(1) 006200 103002 BCC 2% ‘BR IF CARRY CLR
g}; 88258% 052700 002000 = BIS #B1TW,RO ;EQUIV OF BITW
(2) 006206 052777 020000 173512 BIS #CLK,ATXCSR :POKE CLK UP
(2) 006214 04;777 o;oooo 173504 BIC #CLK.RTXCSR :POKE CLK DOWN
(1) 006222 017701 173500 MOV aTXCSR,RY *ACTUAL
(1) 006226 042701 075777 BIC 8075777, *SAVE BITW & DNA
(1) 006232 020001 CMP RO,R1 ' :COMPARE EXP VS ACT



JRP  ASCI,<>
JIF EQ SNWTST

NLIST

$NWTST=1

LSBTTL T14 ASCI
LLIST

s*TEST 14 ASCI

+ENDC
.ENDM

006276 STARS

002 .AF B

:ittitttittlttl'ttttttt"ttttttttttl!tttltlttlttllttiltttttttltt'
. IFF
LNLIST
«REPT
.LIST

S A2 AR AR R RRRRRRR0RRRRRR R RRRRRRRRRRRRRE ]

CNLIST

CNDUU=A MACY11 30(1046) 14=-DEC-8B2 10:02 PAGE 62-61
CNDUUA.M11 23—ocr-32 13:29 INITIALIZE THE COMMON TAGS SEQ 0075
(1) 00623& 001401 BEQ 4
g}; 006236 104003 ERROR 3 .g}} ulugegooéatggtonircn ACTUAL DATA
(1) 006240 005367 172656 DEC SHIFT  :# OF SHIFTS
(1) 006244 001352 BNE 1$ D0 1T AGAIN ?
(1) :NOW POKE CLK TO SEE DNA
(1) 006246 052777 020000 173452 BIS #CLK,TXCSR :POKE CLK
g}; 001 .};T IDN <ISYMOD>,<SYNINT>
g}; - MOV #0,R0  :EXPECTED
g}; 006254 012588 100000 nad MOV #100000,R0 ;EXPECTED
(1) 006260 017701 173442 MOV aTXCSR,R1 ;ACTUAL
(1) 006264 062701 077777 BIC 877777 R SSAVE DNA ONLY
(1) 006270 020001 CMP RO,R1 :COMPARE EXP VS ACT
(1) 006272 001401 BEQ RYA
(1) 006274 104003 ERROR 3 ;DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
g}; :CHECK WORD LENGTH SELECT LOGIC
8162 006276 $TRPAR EIGHT,9.,0DDPAR,SYNINT, 377,777
1) ;:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) 130F THE TRANSMITTER SECTION.
(1) ;31T ALSO CHECKS DNA TIMING
(1) 2 sMODE:SYNINT
(1) PSLENGTH:EIGHT PLUS PARITY
(1) ::PARITY:0DDPAR
g}; :CHARACTER:377
(1) 006276 $TSTNO
(2) 006276 NEWTST
(3) 000000 SNWTST=0
(3) 001 JF B ©
52; 006276 SSNEWTEST \$TN, <>, SCOPE
(4)
(4)
(4)
(&)
(4)
(&)
(4)
(&)
(4)
(4)
(4)
(4)
(5)
(5)
(5)
(5)
(5)
(5)
(5)
(5)
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00
006276 000004

000015

001
000
000000

16-9E(-82 10:02 PAGE 62-62
3:2 INITIALIZE THE COMMON TAGS
.ENDR
LIST
LENDC
1ST14: SCOPE
$TN=STN+1
«IFF
$SNEWTEST \$TN, >, O
LENDC
.IF NE 40008$SWR
.IF NB
F LE <=1>
- MOV #1,8TIMES ::D0 1 ITERATION
MOV #,8TIMES ::D0 ITERATIONS
LENDC
LENDC
.IF NB
MOV #,SLPADR ssSET SCOPE LOOP ADDRESS
LENDC
LENDC
.IF NB
LIF DF SMAIL
.IRP TNM,<\$TN=1>
—— MOV #'TNM,STESTN ;3SET TEST NUMBER IN APT MAIL BOX
.ENDC
LENDC
.REPT 0
NLIST
RADIX 10
LIST
.IRP $DN, <\SN>
NEWTST
MOV #SDON,STSTNM ;s SAVE THIS
.ENDM
NLIST
.RADIX 8
LIST
;.11F NB <, MOV # ,RETURN sSET UP THIS RETURN
:.}éfﬂg&() <>, MOV #,1COUNT sSET UP THIS ICOUNT
:IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
LNLIST
.RADIX 10
LLIST
.IRP SDE‘<\SE>
LIF DF TST'$DE
:ENDH MOV #TST'SDE  NEXT ;G0 TO THIS TEST WHEN THRU
LNLIST
LRADIX 8
siid
: MOV # .EOP,NEXT ;G0 TO THIS TEST WHEN THRU

SEQ 0076
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CNDUU=A MACY11_30(1046) 14=-DEC=-82 10:02 PAGE 62-63 ’

CNDUUA.M11~  29-0(T-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0077
(2) JENDC
(2) JENDC
(2) ;. 11F NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(2) NLIST
(2) .RADIX 10
(5) $N=SN+1
(2) $E=SE+1
(2) LRADIX
(2) LIST
(2) .ENDR
(1) 006300 TSETUP MINT,SYNINT,EIGHT,ODDPAR,26
(§> 006300 SRESET
(3) 006300 052777 000400 173420 BIS WMRESET,3TXCSR :MASTER RESET
gg; 882%92 012777 030000 173406 - MOV #SYNINT,3PARCSR :SET THE MODE
§3; 006314 052777 000400 173404 BIS #MRESET,3TXCSR :MASTER RESET
(2) ;SET MAINTENANCE MODE & SEND
(2) ;NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
{5; 006322 012777 004020 173376 MOV #MINT!SEND,3TXCSR
(2) ;SET MODE,.# OF BITS,PARITY SENSE.Z LOAD SYNC REG
(2) 006330 012777 037026 173364 MOV #SYNINT'EIGHT 'ODDPAR ' 26, 3PARCSR
(1) 006336 016703 173364 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 006342 112777 000377 173362 MOVB  #377,3TXDBUF :LOAD DATA CHAR
(1) 006350 012767 000777 173122 nov :777 srnp1 ro ee snxrrco CHAR
(1) 006356 012767 000011 172536 SHIFTS
(1) POKE CLK TO GET 1~fo svncaoulzailon
(1) 006364 $POKE
(2) 006364 052777 020000 173334 BIS #CLK,RTXCSR :POKE CLK UP
(2) 006372 042777 020000 173326 BIC #CLK.ATXCSR ‘POKE CLK DOWN
(1) 006400 005000 18: CLR RO
(1) 006402 006067 173072 ROR $TMP1  ;FORCE CARRY
(1) 006406 103002 BCC 2% :BR IF CARRY CLR
f}; 3822}2 052700 002000 - BIS #B1TW.RO ;EQUIV OF BITW
(2) 006414 052777 020000 173304 BIS #CLK,ATXCSR :POKE CLK UP
(2) 006422 042777 020000 173276 BIC #CLK .QTXCSR :POKE CLK DOWN
(1) 006430 017701 173272 MOV ATXCSR, R *ACTUAL
(1) 006434 042701 075777 BIC #07577%,R1 :SAVE BITW & DNA
(1) 006440 020001 CMP RO,R1 ;COMPARE EXP VS ACT
(1) 006442 001401 BEQ +4
(1) 006444 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(N :BIT ...ALSO CHECK DNA
(1) 006446 005367 172450 DEC suxrt ;4 OF SHIFTS
(1) 006452 001352 BNE 18 ‘D0 IT AGAIN ?
(1) ;NOW POKE CLK TO SEE DNA
(1) 006454 052777 020000 173244 BIS #CLK,ATXCSR :POKE CLK
“; 001 '{FT IDN <lSYHOD> <SYN1NT>
¢1; - MOV #0,R0O  ;EXPECTED
(i &
(1) 006462 012700 100000 MOV #100000,R0 ;EXPECTED
(1) 000 JENDC
(1) 006466 017701 173234 MOV aTXCSR,R :ACTUAL
(1) 006672 062701 077777 BIC #77777.R1 :SAVE DNA ONLY
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-64
NITIALIZE THE COMMON TAGS SEQ 0078
g RO, R1 ;COMPARE EXP VS ACT
ROR 3 :DNA SHOULD BE SET

:1F DNA DID NOT SET

S
;CHECK WORD LENGTH SELECT LOGIC

~
—
s
%

62
14
M
BE
ER

— i P~ o~
OO ad ad b

AT BY SENDING ONLY ONE SYNC

TED BY STRAPPING ) RECACT =0

RY CHARACTER (TO BREAK UP THE SEQUENCE’
«eoIT WILL TAKE TWO MORE SYNC CHARS

ONLY WORK WHEN TWO SYNC CHARS
eNiﬁi?THERUISE JUMP AROUND THIS TEST

M =g e
~—di™ o« P>OOXI

: :MODE :SYNC INTE
SIPARITY: NOPAR
:SLENGTH: EIGHT

;iTHIS TEST CHECKS ONLY THE RECEIVER SECTION

006504 $1sTND
006504 NEWTST
000000 $SNWTST=0
001 JF B ©
006504 SSNEWTEST \$TN,<>,SCOPE
JURP ASCI, <
JIF EQ SNWTST
NLIST
$NWTST=1
LSBTTL T15 ASCI
LIST
STARS
2+TEST 15 ASC1

. IFF
ASCI
-ENDC
.ENDM
006504 STARS
002 .IF B

001 +ENDC
006504 000004 TST15: SCOPE

000016 $TN=$TN+1

AFF
SENEWTEST \$IN, O,
000 +JENDC

wvvvvv\—vvvvvvvvvvvvvvwvvvwvw-4vvvvvmﬂombw—hooaﬂgwkwvvvvv
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CNDUU-A MACY11_30(1046) 14=-DEC-82 10:02 PAGE 62-65
23 82 13:29

CNDUUA . .M11 -0CT~- INITIALIZE THE COMMON TAGS SEQ 0079
(2) 001 .1f NE 4000L$SWR
(2) 00§ .JF NB
(2) 00 F LE <=1>
tz; 1e MOV #1,8TIMES ::D0 1 ITERATION
(%) MOV #,8TIMES ;:00 ITERATIONS
(2) 002 LENDC
(%) 001 LENDC
(2) 002 .JF NB
(2) MOV #,5LPADR :sSET SCOPE LOOP ADDRESS
(2) 001 .ENDC
(g) 000 LENDC
(2) 001 .JF NB
(2) 002 LIF DF SMAIL
(2) .IRP TNM,<\$N=1>
(2) MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
(2) .ENDM
(2) 001 LENDC
(2) 000 LENDC
(1) 000000 .REPT 0
(1) .NLIST
(1) LRADIX 10
(1N LIST
1) . IRP $DN, <\$N>
(1) NEWTST
(1) MOV #SDN,STSTNM ;SAVF THIS
1) .ENDM
(1) LNLIST
(1) .RADIX 8
(1) LIST
(1) :.11F NB <O, MOV # ,RETURN :SET UP THIS RETURN
(1) ;. 11F NB O, MOV #,1COUNT :SET UP THIS ICOUNT
(1) ;.1F NB <>
:}; :IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
(1) LNLIST
(1) LRADIX 10
1) LLIST
1) . IRP SDE,<\$E>
(1) .JF DF TST'SDE
() 3 MOV #TST'SDE ,NEXT :GO TO THIS TEST WHEN THRU
(1) .ENDM
(1) LNLIST
(1) .RADIX 8
(1) LIST
(1) LAFF
(1) 3 MOV #.EOP,NEXT ;G0 TO THIS TEST WHEN THRU
1) +ENDC
() .ENDC
(1) :.11F NB <, MOV #,LO0CK ;SET UP FOR SCOPE LOOP
(1) .NLIST
(1) LRADIX 10
(1) SN=SN+1
(1) $E=SE+1
(1) .RADIX 8
(1) LLIST



CNDUU=A MACY11_30(1046) ;f;?f(-!? 10:0% PAGE 62-66

CNDUUA.M11 29-0CT-82 1 NITIALIZE THE COMMON TAGS SEQ 0080
(1) .ENDR

81 006506 105767 172434 1878 Svucuo :TEST FOR # OF SYNC CHARS REQUIRED

81 006512 100127 BPL $ *1F NOT TWO GET OUT OF TEST

81 8833}2 2§E§g7 MINT,SYNINT,EIGHY ,NOPAR, 26
006514 052777 000400 173204 BIS #MRESET,ATXCSR :MASTER RESET
882355 012777 030000 173172 SRESET MOV #SYNINT.QPARCSR :SET THE MODE
006530 052777 000400 173170 BIS #MRESET,3TXCSR ;MASTER RESET

s SET HAI:T DATA,CLK ,BREAK ,6MAINTENANCE MODE

006536 012777 064001 173162 ov #MTDATA!CLK!MINT !BREAK ,@TXCSR

:SET "00509' OF BITS,PARITY SENSE,CELOAD SYNC REG

79
80
81
%))
(2)
(M
(1)
(2)
N
(1)
(1)
0
(1) 006544 012777 036026 173150 #SYNINT'EIGHT 'NOPAR!26,aPARCSR
8182 006552 $SYNCR
(1) 006552 052777 000020 173132 BIS #SYNSCH,BRXCSR ;SET SYNC SEARCH
(N *POKE CLK TO GET RECEIVER IN1O SYNCROIZATION....
(1) 006560 042777 020000 173140 BIC #CLK,aTXCSR :POKE CLK DOWN
(1) 006566 052777 020000 173132 BIS #CLK.RTXCSR :POKE CLK UP
8183 006574 $POKER
(1) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006574 042777 020000 173124 BIC #CLK,aTXCSR :POKE CLK DOWN
(1) 006602 052777 020000 173116 BIS #CLK,aTXCSR :POKE CLK UP
8184 006610 012767 000010 172304 MOV #8. ,SHIFT i@ OF SHIFTS
8185 006616 012767 000026 172654 MOV #26.8TMP1 :SYNC CHAR TO BE SHIFTED IN
8186 oooega 004767 010342 JSR PC,RPOKE SSHIFT IN THIS SYNC CHAR
8187 006630 032777 004000 173054 BIT #RECACT,3RXCSR :RECACT = 0 ?
8188 006636 001401 BEQ . +4
8189 006640 104004 ERROR & RECACT SHOULD BE 0
8190 006642 012767 000010 172252 MOV #8.,SHIFT <4 OF SHIFTS
8191 006650 012767 000025 172622 MOV #25.8THP1 SANY CHARACTER
8192 006656 004767 010310 JSR PC ,RPOKE SSHIFT IN THIS CHARACTER
8193 :YOU HAVE JUST LOST SYNCRONIZATION....coevooeoces g
8194 “POKE THE CLK TWICE TO GET INTO SYNCRONIZATION
8195 006662 POKER
(1 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006662 042777 020000 173036 BIC #CLK,ATXCSR ;POKE CLK DOWN
(1) 006670 052777 020000 173030 BIS #CLK.3TXCSR :POKE CLK UP
8196 006676 $POKER
(1) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006676 042777 020000 173022 BIC #CLK,3TXCSR ;POKE CLK DOWN
(1) 006704 052777 020000 173014 BIS #CLK.aTXCSR :POKE CLK UP
8197 006712 012767 000002 172204 MOV #2.COUNT ‘# OF SYNC CHARS
8198 006720 032777 004000 172764 1%: BIT #RECACT,3RXCSR RECACT = 0 ?
8199 006726 001401 BEQ L+
8200 006730 104004 ERROR & :RECACT SHOULD BE 0
8201 006732 012767 000010 172162 MOV #8.,SHIFT ‘# OF SHIFTS
azog 006740 012767 000026 172532 MOV #26.$TMP1 :SYNC CHAR
8203 006746 004767 010220 JSR PC, RPOKE SSHIFT IN THIS SYNC CHAR
8206 006752 005367 172146 DEC COUNT
8205 006756 001360 BNE 1% :1S COUNT = 0 2 NO GO AGAIN
8206 006760 032777 004000 172724 BIT #RECACT,3RXCSR :RECACT = 1 ?
8207 006766 001001 BNE L+
8208 006770 104004 ERROR 4 ;RECACT SHOULD BE ASSERTED
8209 006772 2%:
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000000
001

002

001
000004
000017

[olelele]
W =O

0
0
0
0

002
002

001
000

14-DEC-82 10:02 PA
3:29 INIT

b 7

GE 62-67

IALIZE THE COMMON TAGS
::THIS TEST VERIFYS MODE SELECT.....
$SSYNC EXTERNAL VS. SYNC INTERNAL
*BASICALLY THE TEST CHECKS THAT THE RECEIVED
:DATA FREEZES IN SYNC INTERNAL
*IN SYNC EXTERNAL THIS DATA IS TRANSPARENT
STHIS TEST ONLY APPLIES TO THE RECEIVER SECTION
P:LENGTH: EIGHT
“NOTE : SEARCH SYNC IS NOT SET
$TSTNOD
NEWTST
SNWTST=0
IF B ©

SSNEWTEST \$TN,<>,SCOPE

.IRP ASCI, O

“1F EQ SNWTST

.NLIST

$NWTST=1

.SBTTL T16 ASCI

;*TEST 16 ASCI

SSNEWTEST \$TN, <>, <>

E 4000&$SWR
NB
LE

e o
=M™

hnalns el b 4

<=1>
MOV #1,8TIMES +:D0 1 ITERATION

Mov #,$TIMES ::D0 ITERATIONS

MM e MM b et e T
-
-

MOV #,$LPALR ;sSET SCOPE LOOP ADDRESS

SEQ 0081



CNDUU=A MACY1T 30(1046) 14 9E(-82 10:02 PAGE 62-68
CNDUUA . M11 29-0CT-82 13 INITIALIZE THE COMMON TAGS SEQ 0082
(2) 001 1* NB
(2) 002 LJF DF SMAIL
(2) IRP TNM,<\$TN=1>
(2) MOV #'TNM,STESTN :sSET TEST NUMBER IN APT MAIL B0OX
(2) .ENDM
(2) 001 LENDC
(2) 000 LENDC
(N 000000 .REPT 0
(1) .NLIST
1) .RADIX 10
(1) LIST
(1) . IRP $DN,<\$N>
(1) NEWTST
(1) : MOV #SDN,STSTNM :SAVE THIS
(1) .ENDM
(1) .NLIST
(1) .RADIX 8
(1) LLIST
(1) ;. 11F NB <>, L [0)"} # ,RETURN ;SET UP THIS RETURN
(1) ;.11F NB <, MOV #,1COUNT :SET THIS ICOUNT
1) ;.1F NB >
{}; :IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
(1) NLIST
(1) LRADIX 10
(1) LIST
(1) .IRP SDE‘<\SE>
(1) .IF DF TST'SDE
(1) 3 MOV #TST'SDE  NEXT ;G0 TO THIS TEST WHEN THRU
(1) .ENDM
(1) .NLIST
(1) .RADIX 8
(1) LIST
(1) IFF )
(1) 3 MOV # .EOP,NEXT :G0 TO THIS TEST WHEN THRU
(1) .ENDC
(1) LENDC
(1) :.11F NB <>, MOV #,L0CK :;SET UP FOR SCOPE LOOP
(1) NLIST
(1) LRADIX 10
(1) SN=SN+1
(1) $E=SE+1
(1) .RADIX
(1) LIST
(1) .ENDR
8220 006774 RSETUP MINT,SYNINT ,EIGHT ,NOPAR,26
(1) 006774 $RESET
(2) 006774 052777 000400 172724 BIS #MRESET,@TXCSR ;MAST<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>